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Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

ANGLES

A

60°

Parts of an Angle:
¢ Anangleis formed by two ra:]s with @ common endpoint.
« This common endpoint is called the _ VErt€X

« The rays are called the _Sid€S .

Naming Angles:

e Symbol for an angle: L

e Angles are typically named using thee letters.
*The Mi letter must always represent the ngg .

e Angles can also be named using just the vertex if it is the only angle
located at that vertex.

Angle Measures:

« When refeming to the measure of an angle, use a lowercase _ M

Example: M <ABC = (bD°
TYPES OF
&
ANGLES \
Acutt Right Bhtuce STrighF
Less than S| Equal 4o 9o0° | More than A0° [ Equal 1o 180°
EXAMPLE | a) Name the verfexof theangle. __ K

K L

— —
b) Name the sides of the angle. ___¥.L , ¥J

c) Give three ways to name the angle.

<JKL <LKJ

d) Classify the angle: __Obtus &

LK

EXAMPLE 2

S

a) Name the vertex of the angle. R
b) Name the sides of the angle. QR , RE

c) Give three ways to name the angle.
LQRS <SRE

d) Classify the angle: __y-ig h+

LR
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Solving
for Angle
Measures

. The measure of Z4 is (12x - 5)°. If x = 9, find the measure of ZA4, then

classify the angle. |2 (q) -5 Mm<A = 103°
10g -5 ’

. The measure of ZR is (7x + 19)°. Ifx = 23, find the measure of ZR, then

classify the angle.  —(22) 19 el = \go*
bl +19 iaht
- 180 S'(‘m|g
. The measure of ZH is (14 - 2x)°. If x = -6, find the measure of ZH, then
classify the angle. I -2(-0) meH =20°
14 +12 _’_6’
20 ocw
. The measure of £Y'is (4x + 22)°. Ifx =17, find the measure of LY, then
classify the angle. HD+22 PA,_\, = qooj
wWe + 22 . !
=ap rig n+

. The measure of ZCis (19x - 3)° and the measure of £D'is (8x + 10)°. If

the sum of the measures of the angles is 115°, find the measure of each

angle.  10x -3 4 @x+I1D = \IS m<e = 1a(4) -3
2%+ T =18 e = Tlo-
2% = 108 mee = 132
- 2D =gLH) +Io
X L* "vv\\¢D=3z-ll‘D
meD = 4H2°

. The measure of 2Jis (x +7)° and the measure of ZK'is (12x - 27)°. If

the sum of the measures of the angles is 123°, find the measure of each

angle. X474 12X-217= 123 med = 14Ul
13% - 20 = 123 ma = 18"

12X =143 meK =1201)-29

X =11 mek = 132-27

[me¥ = 10s°|

. The measure of ZE is eighteen degrees more than the measure of ZF.

If the sum of the measures of the two angles is 9¢°, find the measure of

eocl\ angle. X+ X189 Mm< E = 39418
MLE = X+18 2% +1g =90 =
M<F = X m<E =57

2x =18

X=39 ['vXZF'= 39°

8. The measure of ZR is three degrees less than twice the measure

of £8. If the sum of the measures of the two angles is 72°, find the
measure of each angle. meR = 2A28)-3

M<R =2 -3 2X-3+X =72 MLR = 50 -

m<s = X 3x-3=72 [m<R= 97
3X =75

X=25 mes =257
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Name:

Date:

Toplc:

Class:

Main Ideas/Questions

Notes/Examples

VERTICAL
ANGLES

Diagram

Description

Verttical angles are two angles that are
QLSS of each other when two lines

intersect. These angles are _Cm%m_ﬁnL

(mel=me3
Zed 22 2y Y

ADJACENT
ANGLES

me2 = mely)
Adjacent angles are two angles that share a
common _\Er+CX and_Side
They are _ NEX+ 10

each other.

m<s +m< o =m<LABL

COMPLEMENTARY
ANGLES

o
a

Complementary angles are any two angles in
which the _SWM _ of their measuresis _210° .

M<7T+ meg=o00

SUPPLEMENTARY
ANGLES

Supplementary angles are any two angles in which
the SUM _ of their measuresis _1R0° .

\10

Mm<q + me |ID = |R0°

Complementary and supplementary angles do NOT have to be adjacent!

Claswifying Adjacendt,
(Inqew 2 (:omPumcnwj &« / Adjacent
Adjacent Verticad
1N\ 2 Supplcntrcm_\j
5.
/m°\’ v\ﬁtrI 4_, 57°
Supplemerioiny Complementany

Directions: Classify each pair of angles using all names that apply.
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7. Z2and 23 8. Z3and Z4
|2 Adjacent Adjacendt,
— > | Complementany Supp lemeniany
/4 9. 21 and £2 10. £3 and 25
Adjacent Vevticad
1. z4and £5 12. Z1 and £5
Adjacenst, Adjacerct
Upp lemenia Ay

Directions: Using the diagram to the left, classify each angle pair using all

names that apply.

Directions: Find each missing angle measure.

13.

[X= 107

X+l =90

14.
16

x’/ 77°
) kf
2\

54 +X = Igo
X+I42 =igo X=12b°
X = ggof \ ! \':qu
" Z = 124
17. Given: m£RST =112 18.
g.—,"’ x=| ,2— € Slo N 18°>
R v — X
X=25
gy (=251
S14X41g =180
S T X ikq =g
19. X+127 =180 | 20. 34=90
‘ X=630 m
o= -7 Z+34 =180
L N=53 > > “Z= I 0
Z+53 =qp N=34°
=<2 eas:

Wend, Breblemiy

21. If £G and «H are supplementary angles and m£H = 51°, find m£G.

X+85i1= 180
X =129

(mea=129"

22. If £1 and £2 are vertical angles and m£1 = 128°, find m£2.

e 2

=12%° l

23. If £J and £K are complementary angles and m£ZK =73, find m«J.

X+713=9D
X =17

[m3=n7]
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Name:

Date:

Per:

Unit 7: Geometry

Homework 2: Angle Relationships

Directions: Classify the angle pair using all names that apply.

1. 2. 3.
7 :b ! /O\
2
Complemeniary Vertcal Supple mentany
Directions: Using the diagram below, classify the angle pairs using all names that apply.
4. £3and Z4 5. £l and 43
1 Adjacevcr Veérticad,
2 > supple mensdainy
3\4 é. £L2and £3 7. Z4and £5
A_d ‘acenst Su AdJaC‘eVd I
J ) Supplemeniany Comple mepsiaiy
Directions: Find each missing measure.
8 o 9. 10.
- 21 -
€ J—> 129° Xt38 =90
X\ < 38° X= 52 °
X421=180 * .
X=1549° %= |
pEEa] =129
X+q3=1go | 12. Given: m£PQR = 147° 13. W+ 34 =g
[E—g_f] X¥HIg = 147 w% [W = T9e7]
=53¢ X=28°f | < —> Z+34 =90
,‘T’:—___{ A1 2\ 2 %
y =ane
Z2=871° ’ P 0 X2
oDy + 5(9-‘° ]
Directions: Use the diagram below, if mZAEC = 41°, find each angle measure. y=34
14Li ‘mAAEIl) 18. m/CEF
-.x = KD
q0°
16. m«DEB 17. m£BEF
l e I Wi+ ﬁf__‘__ﬂ'_-'%—cl
18. m«CEB 19. m£ZAEF

%-l-lﬁ -—-é
[

u) +QD!'_-[=_§X'_°.,

20. If ZPQR and £SQT are vertical angles and

m<PRR=109°

'mZSOT = 109", find mZPOR.

21. If £2 and 43 are complementary angles and m£2 = 24", find m£3.

244+ X =9p - >
m<3= bl
X = ot J
22. If ZK and £L are supplementary angles and mZK = 56’, find m«L.
506+ X = Ig0 [ | = ol
X= 124 mel” 124
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ANGLE RELATIONSHIPS @ A{gebna,

grechom: Classify the angle pair as vertical, complementary, or supplementary, then find the value of x.

Veévtical

A Supplcmcn:tar!j
. _ BX+31=1Lx -9 (7x-5) XS +ax-17= IgD
(8 + 31) (16x - 9) 3l =¢x-9 — . ley =12 = 18D
HD = €X (Bx-7) lbx=192
55x]
4 .
_ (10x - 13y
A X+ +8x+2 =90 X3+ Xt b = igo
X+ 13 =90 ; Ny - =
(& +2y Ny =7 (x + 6) Y-T=)gd
— NNy =127
X2 [x=]
Directions: Find each angle measure.
e IDX"Z.Z +3X+20=m L 5)(.‘-'1 = gx-— 11
< sesrr /% 1= 3x-11
(10x 22)'(3Jr o l3>f=74' ¥ 24 =3x
MLSAR = 1bgy)-22 J M
= 140-22 MeLN K = 5(g) +1
=118 msSQR=_113* iy A " mzINK=_H1°
MLQRT = 3“'{54'20 _ ° =— -7 _ °
= Y2420 = (b2 méRQT-__lgl_ <JNM 3(‘5}_:_' = 41 mAWM__Lj_L
6 FIX+i3 +32-2X =90 Ox-15 = 5% +29
15X + 45 =940 4 HY 5= 29
lsx =45 (9x - 15) q’é::}'q‘
D B X3 (5X+ 29)°V
o X
(17x + 13) (3220 Y
c o
MDBE = 11(3) 413 meDBE=_UY"  |mewvz 2 3005 mewvz=_84°
= 5l+i13 =04 msCBE = 2b° . . msXVW = _Ql*
LOBE = 32-2(3): 32~f = 2l —— ZXVW = 180-%4 = 9
X =17= 5x+13 2%+ 3 + X +25 = 180
-1M = . EX+28 =180
) .?>3xx ;";OIS E °(sx+25) gy= 152
E |0 (Zx + 3) ¥ = 19
\ msRTS = _(b3° | MCEF4 = La) +25 msEFG=_139°
MRS ’=55§c|>°+|?3= 3 miPTQ=_21° =134 msIFH=__419°
m‘P'rQ = QD=3 =21 ML‘FH '-'QD-L“
= 44 ® Gina Wilson {All Things Algebra®, LLC), 2017




m Given mzJKN = (15% - 13)° and mzNKL = (3x - 5)', find each angle measure.
I5%-13 +3x%-5 = 180

IRX -Ig = I€D
1gX=19¢
X=
msJKN = _152°
M<JKN = 1500 -13 MeLKP= Qp-28  m NKL=_28°
= |b5-13 =152 = b2 msLKP = ©02°
meNKL == 2‘3‘?.55, 28 medep=s 2840 ep_ 118

= \Ig

@ ZR and 4£S are complementary angles. If m£ZR = {2x + 7)" and m«S = {4x - 13)", find m£R.

ZXAT + 4% -13 =qo MZR = 2006 477

o
%= b =89’

(®) 2T and 22 are veriical angles. 1 mZ1 = (7x + 1 and mZ2 = (5% + 47)'. find mZ2.

A :?x:rl Me2 = 5(23)+47T
X +1=H4 =118 +471

22X =4 b [:

m ZC and «D are supplementary angles. If m£C = {12x-7)" and m«D = (1éx + 19)’, find m£C.

1Zx-"1 + WbX+1q = i1go m<C = 120) -1
28X +12 = 18D =12-0

28 = | b8 I_.:Us-o-
X=0 "__J

£ZP and £Q are supplementary angles. If m£P is 21 degrees less than twice the measure of
£Q, find the measure of each angle.

MmeP= Z2x-2) 2X~2) +X = \gb M<P = 2L L1 -2
m<e®= X 33X -2l =180 =134 -2
3x=20] [’;TT?
X =6 M -’lp”l"i

ZA and 4B are complementary angles. If mZB is five degrees more than four times m£A, find
the measure of each angle.

m<A=X X+yx+5=9p men { 17°]
WM<B = Hx+s8 SX+5 =9p
5y = g5 M<B=HUMD 5
X = i1 = {02"'5
=113
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Name:

Date: Per:

Unit 7: Geometry

Homework 3: Angle Relationships & Algebra

** This is a 2-page document! **

Directions: Classify the angle pair as vertical, complementary, or supplementary, then find the

value of x.
T Supplemeniowy 2. Verticad
IbY. 47 + H¥+5= 180 ) . 0x-4=12x-55
(10 + 7\ (4, + 571X +12 =180 (9 =4y A(12x = 55) Y=s8x-55
il =]
3 > Com?\tvnewmlnj 4 Vevticad
(5x-11) (7x + 29)/
. 4l = < > IX+29 = lI¢-31
B3 +5xl =0 fate-31y 20 =y -3
13x-14=9D -
=3 [x=15]

5. Find the value of x and y.

IX-9 +12X~-32 =180 IDy+22 + 1y =9p
20X -4b =180 11y +22 =90
(13x - 32y 20¥ =220 17y = g
(10y + 22)] - (7Y X=1| = Y
Directions: Find each angle measure.
é. B X+9 +1ly-3 =0 7. MX-414 8x -15 =180
(x +9) 12% 4+ =40 22;;' b; =2l¥l>
\ 2% =¢84 ‘ oty
(11x -3\ C X = (8x — 15)
b (14x — 47)
LABDZ= 149 = 1b K

meA (-3 mzABD = _1b° MLLHK = HLIL: >J_=ln o msLHK = _1071°
m<pBc = NN~ . =154-47 = 1D I

.2 o m«DBC = __14 = - m«KH] = __13

=11-3 = 14 M2 HI g%g(.sll-)"lsS: 7
8. WX+ =X -3 6 Ix+2= 4x+23

A (x+6) p b =2x-36 3x+2=23
E H2=2x 3x=2|
X=2) %=1
c (9x-36) }

MZAED =1(2D 4+ .

=Wt =is3 msZAED = _163° meVWY=_51
MZDEB = 1go —163 = q msDEB=_27° | MAWY= H(D$23 msSWX=_39°

=2¢+23 = sl

MLSWX = 9o -5 3% Gina wisson (All Things Algebra®, LLC), 2017



10. Given m£JNM = (1x+ Z)° and mZKNP = (lox+3]", find each angle measure.

10X+3 + 90 + ¢+ 2 =180
IMX 495 =ig0

1134(:;5 my KNP = 53°

ms LNK=_37°
MLENP = IDBD+Y3 =53 N, 143*
MLLNK = 90-52 =31 m L=_"1°

Mm<JNL= 180 -2 = 143 meJNp= 1271°
MINPS 31490 = 127 -

11. ZE and Z£F are vertical angles. If m£E = (5x + 55)° and m£F = (11x - 53 )", find m«E.

5X+55 = lIY -53 m< E =5019) +55
55 = bX-53 = qo+55
I0R = bX
X =19 . = 14s°

12. £Q and ZR are complementary angles. If m£Q = (31 - 3x)" and m4£R = (19x - 5)", find m«R.

31-3% +1ax-5 =qp m<R= 19(4)-5
lbx +2L =D = -5

x=4

13. 41, £2 and £3 are adjacent angles, with £Z1 supplementary to £2 and £2 complementary
to £3. Ifms1 = (8x + 3)° and m«£2 = (5x - 18)°, find m£3.

NN+3+ 5y-Ig = 10 M<2=5(I18d-18
13X -15 = |90 =15 -18
13X=195 =51 =33
X=15 M<¢3=90-57 WM?’ 3
=33

14. ZA and 4B are complementary angles. If m«£B is fourteen degrees more than the measure
of Z4, find the measure of each angle.

MZA = X X+X+4=90 ‘TV\LA =3p°
MeB = X414 2x +14=9p
22X =0 M< B~ 3g +14
X= 3% =820

15. £V and £ZW are supplementary angles. If m£V'is two degrees less than six times the measure
of ZW, find the measure of each angle.

meV= -2 -2+ X =180 MeV= (20 -2
mewW = X “IX-2= 180 = 1G(-
Ix =182 =15

X=2Zb W\LW
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

PARALLEL LINES
% [ransversals

: I
< > m

—F—

e Two lines that _N¢Néer

Symbol for parallel: _H_

Aline that 1 A€YrSeat WO or_WADYe

is called a transversal.

In the diagram to the left, & |l

Mg ECt  are called parallel lines.

Arrows on lines indicate that they are parallel.

lines

t

and the transversal is

SPECIAL
ANGLE PAIRS

Comresponding Angles are in the same position on
! | the parailel lines in relation to the transversal.

/3
s/ m | These angles are always _COAQMCAT .
. QPeg L2220, 43%27,¢Y 2> ey
N Alternate Interior Angles are inside the parallel lines
373 ! and on opposite sides of the transversal. These
S/6 5 angles are always _CD_MM

<4 = 2l

)y 432 <45

A

Alternate Exterior Angles are outside the paraliel
lines and on opposite sides of the transversal. These

angles are always _Q&gﬂ_g@-_

4 ¢4,

<22

A 4
-~

Consecutive Interior Angles are on the same side of
the transversal and inside the parallel lines. These

angles are always _SU ?[211 menia Iy .

ML3AMLL = 18D | m Y 4 me5 =180

Practice Classifuing

Directions: Using the diagram to the left, classify each angle pair and
indicate whether they are congruent or supplementary.

1.2V and £5 2. Zz6 and 48
O ernate exdevior, Congruent| COVVeSponding, congruenc
3. Z2and Z3 4. £3 and L7
Oongecuwhve Interior, Axevnate Wntervior,
supdtmeniawm OConayueve

5.22andz4 7 - 6.460nd4-; l v
Coryes i Conse cthwve Intevior

vesponding, Congruevd Supﬂrmcnium
7. Z2and 46 _ 8. z4and £8 ' -
ey nate | nevion; Congruent | iernate Exdevior,

CONA MEAH
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Hinding
fngle Measures

Directions: Find each angle measure.

1. Given: p || g: m£) = 68

- Lg :\2 180 o °\’pn2° " ”2: L
< Av > me3= |12 m7 = ||12°
' mLs = |pge
2. Given: j || k: me7 =12 ol = \aye  |mes= 134
ms2= Y| msé = UY,°
mz3= |gy° |ms8= L(°
ms4 = L},°
mi= @3e |mi5= gze
m2= Q-° |msz6= Q7°
mi3= oo |mil= @3°
Voo mza= Q7"
msl = |Z2|1>  |m8= 1P
mi2= 5ge  |ms9= |DH°
nis 5qr_|m0-
R Lo
me5= 9|0 m212= [pHy°
msé= 5qo mz13=[pH4’
me7=|20°  |ma4= 7°
mel= 38°  |mzs= QQ°
me2= 62° |mz7= |42°
me3= Qp° |me8= 2g°
med= 3Q°  ms9= |yoo
mes= §9°
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PARALLEL LINES, TRANSVERSALS @ {jebna,

Directions: Classify the angle pair as corresponding, atternate interior, aternate exterior, or consecvtive interior

Then find the value of x.
@y Atternate 2 ) '\ o Covvesponding
- / o7 E)H‘C vidr (.::-;3 El7x - 45) \ s Lg )
< /139., —> 108‘l —>
X +19 =139 X -45 =108

{X =12 "t‘%
X=15 X=9 |
© Altcraic @ Consecuhve
Indevior (&) j Intevior Cleo)
(6x+2) (11x - 9)
(13x — 43)* /
3x-43 = x-l 2+11%-9 =180
by -3 = - e e o
11X g
by =42 % = |
=1
(‘,orrfspomling (SW AN __ Consecuhve
(9x + 14)° o Indevior (18
- (3x + 10Y —
N
AY-2p0="1x+I8 Ax+14 +3X 410 = 18D
2% -20= |§ 2% .+ 24 = 180
2)( 3 12X = 1906
- o l3
7] Alernate (8) AHernadte
(17x 1\\ Exterior (%) (15x - 27 Tlix + 13) Wntevior (&)
\ Y}n 17y
-1 = 10X +17 ISX-27=1Ix+13
X -1l = Uy -21=13
X= 4X=40
LXZ [X=10]
—_— © Gina Wilson [All Things Algebro®, LLC), 2017




@ F1|| m, mZCBE = (14x + 17, and mZFEH = (19x - 23)", find mZCBE.

i &
7 Corres ponding (%)
G /meér l 4w+ = 19X -23 WM<CBE = IH(g)+11
- > m 1 =5%-23 = 12417
D }4"]%—23 F 40 =5 x
{

¢=x [ 12a°]

@ ol d mzXyv=(@&x+ 11}, and mzYVW = (12x- 1T, find mZYVW.
Miernat Intevior (2)

DO e

12 = 4y = 86~

3=x

@ v 1 v mZIKN = (11x- 297, and mZMNK = (6% + 17T, find mZJKN.

) Congecutive Interior (1g0)
G
w\pw I1X-29 + 5% +(1 =180
DY lbx -12 = Ig0
y 0 X =192
M X =12
p Ifjl| k. ms2=(7x+13)°, and m«£8 = (10x — 44)°, find each angle measure.  Al+. E X4eni br (22)
gz que X3 E 10X -4
1Xt13 = ° - _
:\42 %0 My s 3 l53'1 BBX * mol=_31°  mss= 34O
- Ml = 340 =3x
. NS 19 = X me2=_HL®  meg=_IH®
10¥-44 8\, me3=_34°  mo7-=_3H °

msL4 = lL“J" ms8 = [‘-lb‘

@ ifr| s.megéd=(8-3)°, and m«7 = (15x - 1), find each angle measure.

A A tonsecutive intewiov C1€0)
3‘/7q ?¥'3+|5X"‘ =|go msl = qu mss = “ °
/; % 5 Zzi))lt -;L-lifz lgo me2=_W1°  pse= l1®
A ’& X=g me3=_109°  mo7=_l19°
:'E é_:\s' ms4 = "”o ms8 = (”‘
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Name:

Date:

Unit 7: Geomeiry

Per: Homework 4: Parallel Lines & Transversals

** This is a 2-page document! **

Directions: Classify each angle pair and indicate whether they are congruent or supplementary.

1. £3and £5 2. Z4and 48
1 Attornade  Indevior, Corvesponding,
4 / COV\Q went COMNCM
3|2 3. £2and 45 4. L2and 48
/ / Consecutive Interisr, | Aiomate Wnierior,
j : Suppementauy Conanaent
//7" 5. Z1 and 27 = 6.£2and 26
* ! Alitvaie B xttvisr, Corvesponding,
Conanient Congruens

Directions: Find each angle measure.

7. Given: w || vi ms£5 = 149° mzl = 3(0 8. Given: m || mmms) =74 ms2=|ple
ms2 = |L+q° A A ms3 = 140
ms3 = 0 2 msz4 = 0

3l \@(:‘v M° g5 > 10
mz4 = qu‘ ¥V '/7 3 ms5 = ']I-P
« 3|2
ms6= 3|0 p mz6 = {Dfp°
ms7 = quo v v ms7 = _lq'o
m n
mes= 3|’ mes = |0’
msl = |26° 10. Given: a || b: ms£2 =22 msl = \6ge
mi2 - Gge . A A me3= |6gP
4
ms3 =58 3 8/ ms4d= 270
ms4 = |26° X 121 7 ms5= 22°
ms5 = 125° @‘;1 / mz6 = |68°
msé = 55° /5‘, v ms7 = 22’
mz7 = §§° 7 me8 = |50

11. Given: r || s; m£1 =29, m£15 = 65 me2= (,6° me9 = 29°

ms3= 26° | mLl0= 290
mz4 = (p|° msll = |\§|°
ms5=29° |mz12= (|50

r ms6= ps° |[ms13=(p5°
ms7 = Q,° |[mc14=y15°
me8=\5|°
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Directions: Classify each angle pair, then find the value of x.

12, 13.
< \ =7 —> 79’
(4x +\1M
< \;‘ > (16x - 1)
Atomade \Inderier (&) Covvesponding (&)
Uy+id = 5¢
Yy = lbx- =19
r—‘ﬂ_ | kX =0
_,X:_-I—Z— X=5
14. 15.
0 (5x
{(7x - 10)
: , ARltcvrnadc
(12x + 19) .
< > Extevior
N (2)
Consccuhve nderior (180) (3x + 19)
-0 Hizx 419 = 180 5x-94 = 3x+19
1A +9 = 180 -9 =1
Ay = 111 2x=28
x=14
16.1f1|| m, m£1 = (6x + 5)°, and m£2 = 117061 )) m, mzY = (13x + 24)°, and m£2 =
(9x - 46)", find m£). (5x - 6), find m£2.
Covresponding (£) m Conséeuti ve
< Y R / |ntevior (ige)
\2 bx+5 = Ax-Hb 2
« x > m 5: 3X"'fb t
i 51 = 3x
X=11 13% +24 45X - = 180 mz2 = 5(A) b
[ex +1¢€ =1%o = 45-0
mel = L (1) 45 IgX = lb2 r: a9
=102 15 01° X=9 ..E—q—J

18. fpli g. m£2=(10x + 2)°, and m«£7 = (14x - 50)", find each angle measure.

1%0-132 W¥X+2= HX-5d
o 2= 4%-50
d 52 =4X
10{3) +2 x=13
2130 42
=132 p "

Alevmate Extevior (&)

msl = Hg ° mss= 1%2°
ms2 = lszo me6=__HE°
me3=_HE° = 132°
med=_132° pmeg=_HE°
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Name: Pre-Algebra

Date: Per: Unit 7: Geometry

Quiz 7-1: Angles & Angle Relationships

1. If mzA = (11x + 37) and x = 13, find
mZA and classify the angle.

N3 +37 [a(4)-5
143437 Q Acute 6 -9
Q Right
O Obtuse o
mszA =__1%0° Straight msP = _I—l

For questions 3 and 4, classify £1 and £2 using all names that apply.

3. A

Q , Vertical
> dAdjacent
O , Complementary
EI/ Supplementary

112

A

g b

For questions 5 and 6, find each angle measure.

5. ot U3 6 A = Y
ms2 = \Ho
me3=_ 03° " @is4

For questions 7 and 8, find the value of x.

7. 5XH +12% -¢ = 18D 8. . X+ = [0X-23
I1x~7 = igo }{: 34=3x-23
Sx + 1) = _
s I‘IXX-I?.‘I (10x - 23 51= 3x
] X=19

9. If ZR and £S are supplementary angles and mZR = 39°, find m£S.

%0 -39 = 4|

10. If Z1 and £2 are vertical angles and m£2 = 108°, find m£1.

4. Given: mz1 = 28°; mz2 = 62°

2, If mgP = (19x - 5)° and x = 4, find
m£P and classify the angle.

o Acute
Q Right
O Obtuse
Q Straight

Q Vertical
Q  Adjacent
Q/Complementary
QO Supplementary

msIML = _206°
N\ mePMy=_ M
220" mLNMK = yAN

8._ X=19

9. I4l°

10._10R®
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11, If £C and £D are complementary angles, mZC = (4x + 3)°, and 11, ’

m«D = (15x — 8)’, find m«D.

Hy+3 +16X-§ =90 WD = 15(5) -
9y -5 =40 =158
1ax =45 =
X=6

Using the diagram below, classify each angle pair as corresponding, alternate interior,
alternate exterior, or consecutive interior.

12. s1and 26 AHCvnate  Extevior

13. 22and 25 _Corv&ponding
14. s4and 25 _(CoNSECURve Inftvior
15. «3and 25 _Alttvnate Intevior

16. Using the diagram above, if m£2 = 107°, find each angle measure.
1$0-107 =73

m41=_—‘_3°_ ms4 = 13°_ ms6=__"13° ms8 = j07°
me3=_W01° s 100 .- 13°

For questions 17 and 18, find the value of x.

17. 18. \\‘* 17._X=9a
3 12)/ — (7x + 10y _
“w/ \ 18._¥4

/ e \ 19._I04°
3x+12=129 ' ,
3% = 117 llx- = X +O 20 79"
X=9 HX-b =10
X =1b
X=Y
For questions 19 and 20, find m/1.
19. W+2-8x-32 200 i > D3 41=180
' 434 = 3x - x4 =180
(6x +2) & 34 =2y : ) Neel”
LM 12 = X=1l
=04 17X A
JUTRY!
=151
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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
¢ A triangle is a polygon with 3 sides and _\3 angles.

JRiangfes

Y

« On the triangle to the left, the sides are Xj J_Z_
XZ :theanglesare< X . <Y  and ¢Z

« The ___Qungle. Sum  Iheoremh  states that

the sum of the measures of the three angles is always Iﬂ 0 .

Therefore, M< X + M2 Y+ m ¢Z = 180

Directions: Find each missing measure.

1. 19+92 +X=ig0 | 2 Lg+Hq +x =180
79\ X+l =190 X+Hi7= 180
x 82° X=19° X=l3°
53490 +X =180 271434 +X=1(€D
143+ X =180 bi+X =€
E |ix=ll‘|°’
58453 +x =180 | & X190 +9 =/80
W 4x =180 X+104 =180
Ut Py
19°

A Hg+ Q0+ X = 180
138 +X =1¢0
67 2 X=H2 mel=_UG°
\ 1448 +L1 ms2=_Hg®
3 5 + °
M lﬂ5 m43=j_L
8. Find the value of x.
(5x + 1) 5X+ + 14X + 4x-5 = 180
23X -4 =180
23X = 184
X=¢
(4x - 5Y
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A (6x=7)  (3x+4y

B

(9x - 15y

9. Find the value of x, then find each angle measure.

UX-T+3%x+4 + A%-(5 =180

Jypes 04
JRiangfes

No Congruent Sides

1€x -18=1€0 MeA =L (W -1 = -1 mea=_59°
m)‘(f lll% WMeB =300 14 = 3344 meB=.31"
meC = AU -15 =qq-gmsC= 84
R CI.ASSIFXING BY ANGI.ES L
AII Acute Angles One Obtuse Angle One Right Angle
| Obtugse | Righd
. CLASSIFYING BY'SIDESY " - -

Two Congruent Sides All Sides Congruent

L gg Tk

Scalene ISosceles Equilateral

cxamples |

Direcﬂons Classify each triangle by its angles and sides.

1.
Rigirt, AN Acute,
ISosceles /. Equilateral

8cm
13.

Ob‘hAS c I 3ft AC\H'( /
Scalent, ISoSceles
| 3 3L

n°
L Obfuse,  |PE R Righty
ISosceles Scalene

\‘({:/ 34

16. INAJKL, msJ={5x-3)°, m£K=(11x+13)°, and m«L = (9x - 5)°. Find
the measure of each angle, then classify AJKL by its angles.

5y-3 + lIX+13 + A%-5 =180 Mg : s(M-3 =[z2°]

26X +5 = 180 M2 1Y 3 =40
25)2<==’1|15 mel: A - 55 58°

Righd

©® Gina Wilson {All Things Algebra®, LLC), 2017



17 ft

Name: Unit 7: Geometry
Date: Per: Homework 5: Triangles - Angles & Classifying
Directions: Find each missing measure.
1. 2. 3. 4.
x° e pye
68° 41°
16°
X=° X=111° X=2ZL°
5. me=_36° |6 mz1=_5S1°
me2=_11° 5 me2=_39°
me3=_HA° 39 me3 = q0°
mea=_11° mea=_50°
mes=_UZ° L \ o ¥ mes=_17°
mes= 28" mes= 129°
7. Find the value of x. - - =
-y IX-3 +7IX+5 + 13X -8 = i80
3IX - =180
3lx=180b
(13x - 8y X=10b
Directions: Classify each triangle by its angles and its sides.
8. 9. 10.
foo° w 7
48" 37 & Acute,
o\ Scalene
Obtuse) Scalene | pignt, \soscelrs
12, 13. O
0 b‘hASf y 17 ft 17 ft Acud'f : 36 3
ISoscetes Eqwi |ateval =

RigWt, Secalene

14. In AQRS, m£Q = (4x - 17)°, m£R = (x + 6)° , and m4S = (10x - 4)°. Find the measure of each
angle, then classify AQRS by its angles.

X1 + X+ T 10X-4 = Ig0

5% —15 = 180
15X = 195
X=13

MR = H(43) -1

MR = 13+4

m<S = 10013) -4

msQ = _35°

msR = _ |ﬂ '

mAS = 12 (t’
Classify: _Obtuse
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Partsott" a L\ « sides_Q_ond_lb_arecalled _l€gs
a Rjgh
Triangle - - « Side_C iscalled the h%Paj—ﬂ] use
The Pythagorean Theorem is used to find
What is the ) _
a missing side length on a MV\"’* triangle!
Pythagorean
Theorem? Formula: | 02 42 . cz
Directions: Find x. Round to the nearest tenth when necessary.
e 1. 2.
HypoFmdmgt.ent’Jhse 22 4 5% = X* 2 s
| \x MHH4+25 = x?
|Lq = x* 1
(o = Ig2+162 =% 2
W SN2 |y g0s = x2
X =13 549 = x2
Vsdd =¥¥2  |x= 234
3. » 4. x
29
12 9
X
29% + 142 = X2 122 +9% = x2
g4l + 194 = X2 el =X
1037 = x2 225 =X
X=32.2 X =l
5. 6. .
Finding . 10 25
aleg I; N -
2aa? 12 X+ 23% = 262
X“+g“ =10 X%24529 = (25
X% +lY =100 X2= au
Xﬁb X= 9%

1!"__d
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7. .
N AL
3 18 17 )(2 +289-= 324
zZ_
W42 =92 X235
X2+l = g) > x= 5.]
Xz =5 X=¢.|
10,
Mixed |(>2+|5=-x2 1:9 Ex
325 = x2 P
X2 +192 =24
|X= 180 X2+ 3U1 =57
=215 X= 1.1
1.
N
7
><zz+5z ‘!’-q \17—+122- X2
+25 “ 289 +144 = X2
13— 4.
L%+ X% = Ww#* W 222 g2 =x2
L+ X*=250
o BL¥X =28 ugy +324 = X2
X£= 1220 202 =x2
X=128.4
Directions: Determine if the three given side lengths form a right triangle.
Test.ing fora 15.10cm, 15cm, 20cm 16.7in,24in, 25in
024 \5%=2p2 124 24% = 252
Right Triangle _ 4a+ 510 = b2s
100 + 225 =400 ,
325 $4o0  JNO] w25=u2s  |Yes|
17. 4 ft, 9 ft, 10 ft 18.14m, 17m, 23 m
42492 =1p2 424112 =232
b4+ ¢l =100 1A+ 289 = 529
01# 10 4gs $529  [Noj
19. 20 yd, 21 yd, 29 yd 20.8cm,8cm, 11 cm
202+ 202 =292 g2+ =n?
Hoo + 44l = gul be Ut =121
Bul=gui  [\es [ 128 £ (2| No
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Pythagorean Theorer Mazel

Directions: Find each missing side. Round all answers to the nearest tenth.
Use your solutions to navigate through the maze. Staple all work to this paper!

®

-
N

16.7

17.6

23

A\

=

20

o

27.6

©

0

y

@

X
14 24
| .
X
28.3 /@ / 14.9 11.3 29.5
x / End! :
26 30.5 ‘n
27 39
: o =
8.2 \\ 9.4 28.1
X
7 18
10 X
N 12 ) 28.4
x 22
SRNIZ
X
u
30 37 24
28.2 12
X @ 29
X
14
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Name:

Date:

Per:

Unit 7: Geometry

Homework é: The Pythagorean Theorem

Directions: Find the missing side. Round to the nearest tenth when necessclry

. 2,
VO\ : x 1224202 =x2
— E : N\ % |qu; +bW= 2x"-
X2+q2=lg2 52+82= xz ZO X
X2+l = 324 25 + 4l = X? [X=28-Y
il x=4.4
4. 19 5. x . N 10
) - 6 ; 7 L 26
b2+12=%2 X*+10% = 2b*
%24142= 222 30 +49 =2 Xz+'°° L0
X2+ 3;; = ligy gs =x? =510
= | =
e D___Jf x 24
7. °x
X+ a1t=ar A
7 /31 y24 129 =9 27--\-I‘-l2 X2
2.
X"=232 I +152 x* 2y
=15.2 H4+ 1906 =X
X=15. 12 + 225 = X2 = y2
2 u=x2 340 = X
=19.U X=18:
10. 11.
W+25%=28* .
x Y2 4 425 =184 1% +3%= X
5 ey zdti= Xz xz+ 182 = 232
v~ [ 24 =529
Xz §2=§f+ i
X= 4.3

Directions: Determine if the three given side lengths would form a right triangle.

13.9ft, 12ft, 16 ft
A% +12% = L2
2 +144 = 250
225 $ 250

ND

14.3cm,4cm, 5¢cm
32442 =52
A+l = 25

25=25

o

15.16 M, 30m. 34 m
> +8p2 = 34 2
256 +ao0D = sk

IS = 15
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THE PYTHAGOREAN THEOREM (snrd Probllems-

Many real world problems can be modeled and solved using the Pythagorean Theorem.
When solving these problems, it is always helpful to draw a picture!

1. A flat-screen TV in the shape of a rectangle has a width of 36 inches and a height of 20 inches.

Find the length of the diagonal.

Picture:

“ X 20

36

Solve: 202 + 3(02 ='X7‘

Hoo + 124u = x2
LAy = x 2

X=yl.2

soluion: H).Z i

2. A 20-foot piece of wire is attached from the top of a flagpole to a stake in the ground 8 feet from

the base of the pole. Find the height of the flagpole.

Picture:

]

X

20

r‘
8

Solve:
X2 +82 = 202
X* + U4 = H00
X% =330,

X= 18-3

Solution: |8.3 P4

3. A 14-foot ladder is leaned against a wall. If the base of the ladder is 6 feet from the walll, how high

2

up the wall will the ladder reach
Picture:
4
) X
b

Solve:

Y24 U?% = 4%

X2+ 3b= 19
x% = L0

X=12.b

Solution: | Z2..4 4

4. Josh and Ben spotted a bear in the woods while riding their bikes. Josh rode 3 miles north and Ben

rode 2 miles east. How far apart are the two boys?

Picture: Soive:
X 2%2+3%2= x?
3 4+a=x?
2 13 = xZ
X=3.4 Solution: 2 .(, )
5. How far from the base of a house should you place a 18-foot ladder if it is to reach a window that
is 15 feet high?
Picture: Solve:
\% x>t 162 =182
15 x? + 225 =324
XZ z qq
X X= 9.9 Solution: 0\ .9 -F +
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6. Anisosceles triangle has legs that measure 10 feet. If the height of the triangle is 7 feet, find the

length of its base.

Picture:

10

X

Solve:

12+ x*=102
44 +x2% =100
X% =5\
X=1.1

207D = 4.2

Solution: |}.2 £+

7. A footbadll field is 120 yards long by 53 yards wide. If a player runs diagonally from one corner to

the opposite corner, how far will they travel2

Picture:

120

' X 53

Solve:

1202 +532 =x2

141400 + 2809 = x2
7209 = x2
131.2 =X

Solution: |31.2 Yd

8. On a map. Noristown is 18 miles south of Lincoln, and Lincoln is 29 miles west of Allenport. Find the

distance from Norristown to Allenport.

Picture:

29

X ¢

Solve:
29% + 182 = X2
gHl + 324 = X2
1S = X2
X=3ay.|

Solution: 3"*5 mi

9. A set of stairs is 10 feet tall and covers a horizontal distance of 12 feet. If a handrail is to be installed

that extends the entire length of the stairs, what length must it be?

Picture:

X o

12

Solve:

2 4122 = x
100 + 1HY = X2
244 =x*

X=Is-b

Solution:

IS.L £+

10. Carais flying a kite at the park using a string that is 42 meters long. She notices that the kite is
directly above her friend Leah. If Cara and Leah are standing 36 meters apart, how high is the

kite?
Picture: Solve:
XZ .(_3(‘2 = ,_}22
4 X X% +1290 = L4
X = 48
30 X=2l.0 Solution:  21.Lb m
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Pythagorean Theoren Word Problers Mazel

Directions: Solve each word problem. Round all answers to the nearest tenth.
Use your solutions to navigate through the maze. Staple all work to this paper!

James drove 6 mies
south and then3mies | 43
west How Faris he

From his starting point?

6.7

A ladder reaches a
vertical height of I9 Peet

A television's size Is
measured by the
diagonal length of the
screen. IR a television is
24 inches tall and 32
inches wide, find its
diagonal length.

—am—

A 12 Poot ladder is leaning

®

adainst a building. IF the
base of the ladder is
S Peet Prom the base

75

AN

on the side of a buiding.
I the base of the ladder
is 10 Peet Prom the base

®&

of the house, find the

The local college has
a swimming pool that
measures 50 m long and
25 m wide. IF you swam
Prom one corner to the
other, how Par would

i

of the house, how high
up the house wil the
ladder reach?

13

The infield of a softball
diamond Is shaped ke a

84

g

square. IP the distance
betweenbases is 60 Feet,
Find the diagonal distance

11.9

from third base 1o First
base.

12.5

What is the straight-ine
distance from one

corner to another?

length of the ladder-. you swim?
16.2 \\®\ 433
Arect lar park Jack's tent is shaped
measwigg% ml:e)-l-ers ke an lsos;:e!es h*iang1l_e.
The height of the ten
\ide and 25 meters long. 145.8 | measures 7 Peet and the

diagonal side measures
d Peet. Find the length
of the fent’s base.

Mason is Il mies

Prom home. IF he has
driven 6 mies west;
how Far north must

100

BN

0

6.1

Endl
©

®

A ramp measures 6
Peet long. IP the ramp
is 2 inches tal, what is
the horizontal distance

that it covers?

YO

he have traveled?

An arearughas a

®

length of 8 feet and a
width of S Peet. \What
is the diagonal distance

across the rug?
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Name:

Date: Per:

Unit 7: Geometry

Homework 7: Pythagorean Thm. Word Problems

** This is a 2-page document! **

Directions: Solve each problem. Round to the

nearest tenth when necessary. Draw pictures!

1. A 16-foot ladder is leaning up against a
wall. If the bottom of the ladder is 6 feet
from the base of the wall, how far up the
wall does the ladder reach?

v %+ 2 = L?*
A Y 426 = 280
b X% = 220

X =14.€

I4-5-£+

2. A flag is 30 inches wide by 48 inches long.
Find the length of the diagonal of the flag.

x]3  Fp24Hg?r = X2
9 Q00 + 2304 = X%
3204 = x2
X=50-b
56U in

3. A pool table is 5 feet wide by 10 feet long.
How far is it from one corner pocket to the
opposite comer pocket?

5 52+I0%=x?
25 + Ibo =xZ
125 = X2

1.2 84

4, Antonio drove 26 miles north, and then
drives west. At the end of his drive, it is
determined that he is 50 miles from where
he )s(tor’fed. How far did he drive west?

X%+ 20?% =502

X%+ bb = 2500
X*= 1824

X= 427

20
80

5. Aladder is placed 7 feet from the base of a
building and reaches a point on the building
that is 24 feet above the ground. Find the
length of the ladder.

6. The front of a doghouse is in the shape of an
isosceles triangle. If the sides measure 4 feet
and the base of the house is 6 feet long, find
the height of the doghouse.

124 242 =x* ‘ 4 x*t3Z-y42
"i‘z‘* H9 + 570 = X2 A X249 =1,
S w25 = x2 \T" X% =1
X=25 X= 2.0
25484 126 $
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7. A 18-foot long ramp is placed at a loading
dock that is 5 feet above ground. How faris
the bottom of the ramp from the dock?

9 52 +x*=Ig2
s 2
~ j 25 + X" = 324
X X%= 249
X=11.3
I11.3 4

8. As part of a half-marathon route, Charlie
ran 4.1 miles east then 9 miles south. How
far is he from his starting point?

gl L|l'2 +q2: Xz
q -8l +Q 1 = X2
X Q1.3 = x2
X=9.9

‘CI.OI miﬂ

9. A soccer field measures 90 meters wide by
120 meters long. Starting together in one
corner, you walk the diagonal to the
opposite corner while you friend walks the
length and width to get to the same corner.
How much further does your friend walk?

" 1202 +90* = x2
%" [0 Muyod + 8100 = X2
s g r 22500 - Xz
120 X=16D
_O(o +120 = 210

210 =160 =(@o0

(Lom

10. A 34-foot tall utility pole is supported by tw
wires that are anchored 8 feet from the
base of the pole. How many feet of wire is
needed for the support wires?

34* 182 = X2
U506 +u4 = x2
1220 = x#

4 24.9 =X

34 \&

2(34.9) = V48

11. A 37-foot walkway runs the diagonal of a
rectangular garden. If the length of the
garden is 35 feet, find the perimeter of the
garden.

25 352 + 2 =312
> X 1225 +x% = 1319
X% = 1Y
X=1z
2(25)+2(12) = 0y
A4

12. A baseball diamond is a square with sides
measuring 90 feet. If the pitcher's mound is
60 feet from home plate, how far would the
pitcher need to throw the bail to reach
second base?

0 A2+ Ap? = X?
0 2100 +8l0d = X*
1b20d = X?
X=121.3

127.2-00 = (-3

1. |
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Name: Pre-Algebra
Date: Per: Unit 7: Geometry

Quiz 7-2: Triangles & The Pythagorean Theorem

Find each missing measure.

Y 22+31+x=180 > \
\ X+l + 0 = 180

49

4. Find the value of x, then find each angle measure.
IX-b + 3X+1 +AX-2 = 180
19% +9 = I8
1ax = 171
X=9

Mg =1 -

melk = 3D 417

MLl =alqQ) -2
Classify each triangle by its angles and its sides.

5. 6. 610
%
45° 45° 43° 7
60°
b0 | 60

L]
7. 32 8.

26 cm 320

26 cm

5._Right
ISosceles
6. e
Salené
7._Obtuce
| Sosceles
8. _feuto

EQMA | attvad
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Find each side length. Round to the nearest tenth if necessary.

9. 10. 9. X=39
y ° 19 10._ X=9.5
17 YA 2_
207 y2 ))22:'2-.1 —M;I 1. _X=Zo0.1
\52“' 20" =X §9-8
225+ 129, :Xz x XZ:—IZ 12. x:l H
\52| = XZ .
11, 14 12. 12 14._ N0
25 N 8 15, 371 £+
122 492 = X2 16. 28.8 m
M2+ x* =252 44+ U4 = X2
190 +X%=b2s 20g = X2
X2 = 429

Determine whether the side lengths could represent a right triangle. Answer yes/no.

13. 11,60, 61 14, 14,21, 25

UZ 3002 = L1? 42+212 = 282
12| + 3600 = 312| 1qu + 44 = 25
312\ = 312} L3T # 25

Solve each problem, using a picture to assist you. Round to the nearest tenth if necessary.

15. If a 40-foot tall ladder is placed 15 feet from the base of a house, how high up the house will the

ladder reach?

X2 t+15% = Lp2
« |\ X%+ 225 = 1400
X*= 1315
> X= 37.i

16. Starting from the same spot in the woods, Presley ran 24 meters north to camp while her sister Ava
ran 16 meters west. From this point, how far will Ava need to travel to reach camp?

W% 4 242 = x2

ﬂ 24 28l +51 =X2
g32 = xZ

b ¥= 28.8

© Ginc Wilson (All Things Algebra®, LLC), 2017
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

QUADRILATERALS

4

Y X

o A quadrilateral is a polygon with H: sides and "_'l angles.

« On the quadiilateral to the left, the sides are _ WX, XY
VZ . and_ZW theanglesare <W | & X

and <Z .

<y

¢ The sum of the measures of the four angles is always 300° |

Therefore, LW 4+ ¢X + &Y 4+ L2 = 360°

EXAMPLES

Directions: Find each missing- measure.

1.

X+ 304 =3io

221+ X =360

X = 50° lx=|3‘I°l
3. X+288 =3(,0 X+ 26 =300
x=127) X ="
5 ° X122 =360 2271+ X =360
N 77 [X=7@3a X ur [x=63"
x 107
7.
3
msl = \z °
3 97'2'1 58 me2=971°
1 me3= 25°
8' -]
\104 mzl = ._(L(__
> o
157 \1 ms2=_10H "
2 4 3 ms3 = (08 °
> ms4 = l21 °

@ Gina Wilson (All Things Algebra®, LLC), 2017




(6x-5yr K

(5x + 2y
J

(11x - 9)°
(8x-18y L

9. Find the value of x, then find each angle measure.
BX+2+ LX 5+ 8X-18 +1UX-q =360

20X -30=36L0

3X =390

X=13

wmeT = s013)+2 = b1
meK s 3-8 = 13

m<L~=

g(13) ~18 =

m<M=Iu3) -4 =

mes=_L1°
mAK=-7_3‘=
m£L=_8_(0_°_
m£M=|3_"'°

PROPERTIES OF

Place a checkmark on the properties that apply to each quadrilateral.

ISosce\es
# \ Troapezoid

>

Exaclly One Pair | Both Pairs of .
QUADRILATERALS | ciomeoite | oposteSiaes | Oppomesces | fourConguent | four
Parallelogram v v
Rhombus v v v
Rectangle v v’ v
Square v v v’ v
Trapezoid v
Classify each quadrilateral using the name that best describes it.
CLASSIFING ™ & "
QUADRILATERALS Square
H——o Tvape zoid
12. 13.
Quadritateral | 7T X op e
7em 7cm
14. 15.
Tarallelogram —t Rectang e
-__l |
16. 17.
Quadvilateral

Determine whether the statement is always, sometimes, or never true.

18. A trapezoid is a rectangle.

19. A rhombus is a parallelogram.

Never Always
20. A square is a rhombus. 21. A parallelogram is a rectangle.
Aways Somehmes

© Gina Wilson {All Things Algebra®, LLC), 2017
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Name:

Date:

Per:

Unit 7: Geometry

Homework 8: Quadrilaterals

** This is a 2-page document! **

Directions: Find each missing measure.

1.

59°

msl = ﬂ
ms2 = leZ-t’
ms3 = b (o °

7. Find the value of x, then find each angle measure.

ISX - 14X +3 +ax4s + X 43 =340

45X = 360 x=8
X=% msP = ﬁ
M<P=a(gy+s5 = 71 meQ=_{15°
m<® S +3 =15 meR=_09°
m<R = Is(D - = 109 meS= 59 °
m<S = 1(8) +3= 59
Directions: Classify each shape using the name that best describes it.
8. 9. 16in 10.
12
9ft
. ISosceles Rhombus
e 161 Tra?(a).'d
Rectongle
1. 12. 13. R
5 an 5cm / /
S5cm 5cm g
Square Quady latem Pamlleloaram

© Gina Wilson {All Things AlEébro@. LLC). 2017



Directions: Classify each shape or the description of the shape using all names that apply.

14,

15.
d Quadirilateral

Q Tropezoid

Q Isosceles Trapezoid
Parallelogram

O Rectangle

8’ Quadrilatera
Trapezoid

Isosceles Trapezoid
Parallelogram
Rectangle

O Rhombus
Q square

Rhombus
Square

oo0oocoo0Do

16. A four-sided figure with four right angles.

MQuodrilotercl

O Trapezoid

Q Isosceles Trapezoid
W Parallelogram

Rectangle
QO Rhombus
Q square

17. A paralielogram with four congruent sides.

@ Quadiilateral

Q Trapezoid

Q Isosceles Trapezoid
W Parallelogram

Q Reciangle

@ Rhombus

Q square

18. A four-sided figure with one pair of opposite
sides pardllel and two congruent legs.

d Quadrilateral

@ Trapezoid
Isosceles Trapezoid
Parallelogram
Rectangle
Rhombus

Square

DO000K

19. A rectangle with four congruent sides.

E/ Quadrilateral

Q Trapezoid

O isosceles Trapezoid

@/ Parallelogram

& Rectangle
Rhombus

g Square

Directions: Determine whether the statement is always, sometimes, or never true.

20. A irapezoid is a rhombus.

21. A quadrilateralis a
parallelogram.

22. A square is a rectangle.

e .
Nev SomeHmes Alwaxs
23. Arectangle is a 24. A parallelogramis a 25. A quadrilateral is a
quadrilateral. square. rhombus.
Always somehmes Somehimes
Directions: Draw each shape, if possible.
26. A pardllelogram that is not | 27. A square that is not a 28. Arectangle thatis not a
arhombus. rectangle. quadrilateral.
| Not Not
Yossible Possible

© Gina Wilson {All Things Algebra®, LLC), 2017




Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

Polygon

A polygonis a _CAvsed

figure formed by three or more

line SCgmtﬂ“’S called_SideS .

Classifying
Polygons

Polygons can be classified by the number of sides they have.
Complete the table below.

# of Sides Polygon Name

# of Sides Polygon Name

3 Triangle

7 er’mq on

4 ®uadrilaioal

8 Dcerogon

S Pendag on

4 Nonagon

6 Hexagon

10 Deécaaon

Sum of the
Interior Angle
Measures

The sum of the degrees of the interior angles in any polygon can be
determined by the number of friangles that can be drawn within the
polygon. Complete the chart below and look for a paitern.

Number

Polygon of Sides

Sum of Interior
Angle Measures

Number
of Triangles

Triangle

AN

3

\ 180°

Quadrilateral

l.,.

2 360°

Pentagon

5

3 540°

Hexagon

b

s 120°

Formuia

If n represents the number of sides of a polygon, then the
sum of the interior angles, S, can be found using the formula:

S=(n-2)- 190

Examples

Find the sum of the measures of the interior angles of each polygon.

1. heptagon
S=(1-2) -180
S= 9Q00°

2. decagon
Ss=(10-2)-\&0
S = \Yy4o°

3. 13-gon
S = (13-2)-180

S =1980°

4, 25-
o2 (28-2)- 18D

S = Hhi40

® Gina Wilson [All Things Algebra®, LLC), 2017




Congruent
Polygons

« Congruent polygons have the same _Si12¢

and Shape

« All corresponding parts (_Sid€s and _QVG[ES ) are

(:Qn% uendt

When polygons are congruent, we can write a congruency statement.

Congruency -
E
Statements
) A)\/BA [ AABC = ADEF ]
C D F
A valid congruency statement must match all corresponding angles and sides.
Directions: Identify the congruent parts given the congruency statement,
Examples ~ ~
5. AWXY = AQRS é. rhombus EFGH = rhombus JKLM
LW LQ WX = Qe tE= ¢TJ EF = Jr
X LR Xr= gs A= ¢q M = Et
2¥=<S WY = §S CH= (M GH = LM
7. APOR = ATUV mev= 129 o
U V ”'AQ = 2-‘ °
P 21 T msP = 20°
10 ft 129° T PO = y4| 'F+
8. quadrilateral ABCD = quadirilateral EFGH
G _ °
A 2dam B 19m msG=_58 ~
| | F mzZB = l 33
C meH=_"19°
o 35m AD = Z(Dm
H 2em E FE = ﬁm
9. trapezoid MORE = trapezoid MATH
23 E mzE = -12 o
m
R A msT=_55 °
i1m o
s 108’ | —125° meo=_125°
" > , EM=_9m
9
" 72 HT = 23m
H

® Gina Wilson (All Things Algebra®, LLC), 2017




Name:

Date: Per:

Unit 7: Geometry

Homework 9: Polygons

Directions: Find the sum of the measures of the interior angles of each polygon.

1. octagon 2. 16-gon 3. 30-gon 4. 23-gon
S=(8-2) - 18D S=(Itb-2)- IRD S=(30-2)-180 $=(23-2)- 180
S= 1080° 8§=2520° $=5040° S = 3180°

5. A heptagon has interior angles that
measure 109°, 143°, 120°, 152°, 117°, and 84",
What must be the measure of the remaining
angle? S=(1-2)-180

§ = q00*

X+125=9p0
X = |7s°

é. Find each missing angle measure.

msl = 5_70_
ms2 = ﬁ:_
ms3 = Lgo
med=_|12°

7. Given ARST = ACDE, identify the congruent
parts.

8. If quadrilateral VERY = quadrilateral FAST,
check each statement that is true.

0O zE=sS o zF= 2V

ZR= LC 8= 2D «T= <¢E o ER = 45 M TF=mw

=~ ¢d |RT= CE =DE | ORF=aT O 75 =E¥
Directions: Given the congruent polygons, find each measure.
9. AADE ALMK 10. trapezoid EFGH = trapezoid JKLM

F ¢ L 3&1{
12cm 7ft 101t M
68" 55° 3R
H
£ J
meE= "12° |mzL=59° |mM=YH9° |miM=55° |meG=]28° |msF= |pq°
AD= Qem |MK= |TIcm |2em |LM= |of+ |EH= 1Bf+ |FG= 3+
11. If ABCD = AFGH, solve for x, y, and z.
gX+5 = 29 ay -43=128
(i
G (8x+5) 3x = 2.—‘ q\'l
[x=3 ] N=19
16 cm
+3
9 43
(}’ ) " Z+3: lo
cm
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

¢ A fransformation is an operation that maps an original figure called the

Trammmn _‘QCCL_ML onto a new figure called the __| magé

o A transformation can change the _SI{ Z€ pos ihon |
or_OvientatioN  of afigure.

o There are four types of transformations: tranglations
vefkections | potations ,and _dilation

Refiections

4 A

c

- aflip  overalinecaledihe line  of _reflection

» Each point and its image are the SAME distante  from the
line of reflection.

e The X _-QXiS and N - QXIS are common lines of reflection.

« Reflections result in COV\QN‘CV\.'J' PQM@QDS .

Practicel Graph and label each figure and tts image under the given reflection. Give the new coordinates.

1. Triangle ABC with vertices A(1, 6), B(8. 3), and | 2. Rectangle JKLM with vertices J(2, 1), K(4, 7).

Cl(4, 2) in the x-axis.

L{7, 8). and M5, 0} in the y-axis.

H | ‘—' “L I
i L ”\\ Irg‘\ IL
N L 8 \ \\ / /
= = 72, _1)
T — Il _A_
e 4L o) 1 kcH, )
/.
Av=d B8 ,3) I NS S rcl, b
A c(M.,2) C T — M-S, 0)
3. Triangle POR with vertices P(-8, -6}, O(-5. -2}, 4. Trapezoid WXYZ with vertices W(2, -3),
and R(2, -1) in the x-axIs. X(4,-1), Y8, -2), and Z(3, -7) in the y-axis.
Q‘ ] [ I i
NN [
\‘ ~ !
L = i | W’(ii
—— N “\ | X\ i1y - o -
- /,’ﬁ P8, b oA DN x(H, =y
0 ,5,/ 052 Vi r(=2.-2)
| R(2, 1 EaansE 73,

© Gina Wilson {All Things Algebre®, LLC), 2017




5. Rhombus CDEF with vertices C(-4, 7).
D(-2, 4), E[-4, 1), and F(-4, 4} in the y-axis.

é. Quadrilateral STUV with vertices S{-4, 2),
T(-2, 6), U{1,7), and V{4, 1) in the x-axis.

Cn al |
| £ T
= '/ \ H Vl N - .
NI/ N /£ 1 ' .
Vi e, Ean 1 s, -2
! Y
D'(2.4 ) T \ / re2 b
e, INH v
Pl ) aEmars 4, o)

7. Triangle MNP with vertices M(3, -1}, N(6. -8).
and P(1, -3) in the y-axis.

8. Square FGHI with vertices F(-1, -2}, G(5, -1).
H(6.-7), and ‘I(O, -8) in the x-axis.
1

MI

D A =NWE; M

| |

| |

Ly [
] ; P, 2
: w3, -l wERRER (5,1
paaRmuRRSE vl -8 | ‘ (o, )
u T Pl ,-3) T ]I«ll =ndl r¢o, 8,

9. Parallelogram VWXY with vertices V(-5, 2},
Wwl{-1,7), X(7. 5), and Y{3, 0} in the x-axis.

10. Quadrilateral ABCD with vertices 4(-4, -1),
B(0, -2), C(-1, -6}, and {-6, -3) in the y-axls.

| | ! | : [
4 ‘ I‘ : ‘
,}
,/
AN - /1
~ -, , -
R V(_T;T EE AR A(.i_;)
P& NS X wel 2y o Aven B'( 0, "2)
. N x( L5 | B ‘V T c' L -by
— ' Pl
r 3,0 BT pl,3)
W
Ll Look for a pattern in the reflections to create general rules:
el
a [ Fy.axis (x. y) - (X ; "Y)J [ ¥y.axis (x y) - (‘X, ‘I) ]

11. ALMN with vertices L(-8, -2), M(-3, -1), and
N{-1, -8) undergoes a reflection with new
coordinates L'(8, -2), M’(3, -1), and
N’(1, -8). Name the line of reflection.

r\|-00<i5

12. Which pair of points represents a reflection
across the x-axis?
A A(-7,2)and 4'(7,2) C. C{4,-5) and C'(-4, 5)

B. B(0. 3) and B'(-3.0) @D(l, -8) and D'(1, 8)

® Gina Wilson [All Things Algebra®, LLC), 2017




Name:;

Date: Per:

Unit 7: Geometry

Homework 10: Reflections

the new coordinates.

Directions: Graph and label each figure and its image under the given reflection. Then, give

1. Square QRST with vertices Q(3, -1), R(8.-2),
S(1.-7), and T(2, -4) in the y-axis.

2. Triangle JKL with vertices J(-5, 5), K{5. 7),
and L{2, 3} in the x-axis.

K
‘5 I — /f
v
Y
|
4 .-‘! _I )
= == KQ(g'z Ll -5
% / f RES2) = N J(5 .,
\ \ H s == N ks,
el N M [~ -
Y 7=2_,-lb) < o] 2, 3)
)

3. Trapezoid ABCD with vertices A(-8, -4).
B(-5, -1), C|(0. -2}, and D(-4, -8} in the x-axis.

-D\
N\
N
A N
\ c'l
B R 2
ZARERRY. BS,1 )
A 7 . 2
c'(0 %)
N p(¢t.8 )
¥

4. Rhombus MNOP with vertices M(4, 6),
N(7.1). O[4, -4), and P(1, 1) in the y-axis.

i‘\( A_| !
T A

4 4

P
=
M
A
2

Z.

e

7 mt b
e, 1)
oM, -t
P, L

5. Quadrilateral ROCK with vertices R(-5, 7).
0(-3, 4), C(-2, 1}, and X{(-7, 2) in the y-axis.

6. Rectangle STAR with vertices S(0, 4),
T(6,7), A(8, 3), and R(2, 0} in the x-axis.

2 )?(‘ i . - .
VAN 4 \‘ S~ I
' K]
* s R'(.é_,.-_‘_ \/\Ts : S’(_O__,;q_
VAL ‘ ”

03 .4 SH e, -1
1 ez ST a3
H k(. 2) | Tt R0

® Gina Wilson {All Things Algebra®, LLC), 2017



Name:

Date:

Topic:

Class:

Main Ideas/Questions | Notes/Examples

« A translation is a vertical and/or horizontal S| fd €

TRANSLATION

L
[

o Symbolic Form: Cxl%) <2 (Xth, lj‘fk)
N represents the horizontal shif+
K represents the _VeértHira |

« Translations result in CD(\%VWCV\:*'

shift
polygons .

Practivel 6raph and label each Figure and tts image wnder the given trandation. Give the new coordinates.

1. Triangle ABC with vertices A(-6, 4), B(4, 1),
and C{-7,-1): (x,y) = (x+3,y +2)

2. Trapezoid KLMN with vertices K{(1, 3), L{2, 7).
M(7.2), and N(3,1): (x,y) = (x-8,y-7)

A i

A N
e e P S e B
F ' a3, b |=rin L', 0)
- B, 3| ¥ Tu _ M, 5)
ct, 1) \G mRanm N5, —b)

3. Square RSTU with vertices R(1. -1), §(6. -3).
T(4,-8), and U[-1, -6): (x,y) = (x=1,y +3)

4, Rhombus CDEF with vertices C(-6, 6), D{-2, 7).
E(-3.3).and F(-7.2): (x,y) > (x+9,y-4)

" d?]—’fl 5
3 R, 2| g c(3.,2)
) =] S’(i,_O_ S A EEE D'(—’_IB_)
WS (3,-5) ‘ A (b, -1
: u_.iL = ;_ v(8.,-3) —- T F(2,-2%)

5. Rectangle WXYZ with vertices W(-2, 2}, X(1, 5).
Y(7.-1). and Z(4, -4): (x,y) = (x-1,y-4)

6. Triangle GHI with vertices G(-7, 5), H(-4, -2),
and /(-8.-1): {(x,y) = (x+6,y)

| | ! { | Y
t-——
i \ |
I w32 N

SRR l X0, L) sV 6=l 5
‘ v b, -5 H(Z, %)
AT 723, "8, re2, ol
%‘l © Ging Wilson (All Things Algebra®, LLC), 2017



7. Write a rule describing the translation below:

?
\\ F;
R <<\ \‘
\
~N N
—Q’

rie: (X, 4) > (X49, -3)

8. Write a rule describing the translation below:
F

\

\ A\

\
~,

Rule: CXIQ) - CX"l, %‘2—-)

Directons: 6raph and label each figare and Hs Image under the given transformations. Give the new voordinates.

9. Quadrilateral STUV with vertices S(-5, 5),
T(1,7), U0, 1) and Z(-4, 2):

(a) Reflection: in the x-axis
(b) Translation: (x, y) — {x + 4, y + 3)

QY/ ]
1 #/ Ty
37‘: ‘ L
SNEEA r5., 4,
¥ v, 2,
o, 1)

10. Triangle BCD with vertices B(-5,-1), C{-1, -8).
and D(-7, -6):

{a) Reflection: in the y-axis
(b) Translation: (x, y) = {(x-2, y + 7}

A
/ \
A
i "/lv‘
a1
7N (3, b)
b*\‘ X C'(_—.’_li)
S p(S., 1)

11. Rhombus PORS with vertices P(1, 5),
Q5. 2), R(1,-1), and S(-3, 2):
(a) Translation: (x, y) — (x -5, y— 4)
(b) Reflection: in the y-axis

|
/’Ai\x
N P ]
N <71, P H. )
9 \>s\
A" 00,2
] M, 5
l s(3_,-2)

12, Parallelogram DEFG with vertices D(2, 7),
E(7, 6}, F(3.0) and G{-2, 1):
{(a) Translation: (x, y}) — (x + 1,y - 8)
(b) Reflection: in the x-axis

\ ¢
A\ ‘
6N =R €
H p¢2, 1)
(8, 2)
8
¢l
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Name:

Date:

Per:

Unit 7: Geometry

Homework 11: Translations

** This is a 2-page document! **

Directions: Graph and label each figure and its image under the given translation. Then, give
2, Rectangle EFGH with vertices E(4, 1), F(8, 0).

the new coordinates.
1. Triangle MNP with vertices M(-6, 1), N(0, -5),

and P(-5,-3): (x,y) = (x+ 1,y +5)

G(6,-8),and H(2,-7): (x,y) = (x-2,y+ 6)

6
s
[
\ / /
\ /
(W /
I - Fy AREY AR Fec 1
\ M2, b ) Hatlf| e, b
™
Pt 2) #==0 A (0.1
3. Trapezoid QRST with vertices Q(-7, 4), R(-3, 6}, | 4. Triangle XYZ with vertices X{1, 8), Y(8, 7),
S(4.4), and T(-8, -2): (x,y) = (x+3,y-4) and Z{(7,-2): (x,y) = (x=9,y-5)
X
0 LT Y
» [~ ]
A I~ 5 A |
. x U \ ’
I : ] N f
[T B~ 5 Q’("_'l 0 ) ]
Iz n 2 X, I \,
o o ) O ry - 3
< ] A R(Y, <) Ymm x (3 )
| /4 S:( ” o ) \ | Y, [ “‘ 2_ :
‘ r(5, -0 ; ¢,
Directions: Write a rule describing each translation below.
5. I 8.
—
\ } 444 A ’
\ /! AT L
\ T I -
s St
e \\ [/ I3
A\
\ F
Y I — L
] K
Y i LA
!
L

Rule: (X, u) ¥ (X+!, y %)

rRute: (A u) ¥ (X-5, gﬂ"ﬂ
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Directions: Graph and label each figure and its image under the given transformations. Then,

give the new coordinates.

7. Parallelogram MATH with vertices M|(2, -2),
A(7.-1), T(6. -4), and H(1, -5):

(a) Reflection: in the y-axis
(b) Translation: (x, y) — (x +2, y + 4)

|
|
# L
AR
‘_ﬁ‘% MO, 2)
] T 45, 3)
=111 74,0,
el ol

| .
; X i
ol IAY
\
NS
L ;vnl\a"'
f‘\ K’ £ -5
ba SN (8,5
. /' 7”" 3,1
¥ Ml 72 )
R (b D
5. V(22

8. Square KLMN with vertices K{-3, 6), L(2, 8).
M(4, 3). and N(-1, 1}:

(a) Reflection: in the x-axis
{b) Translation: {x,y) = (x -5,y + 1)

9. Triangle VWX with vertices V(-8, 4), W(-1, 5),
and X{(1, 1):

{(a) Transiation: (x, y) — (x + 3, y-7)
(b) Reflection: in the x-axis

v
W L
/

V=== =
= L~
—t \:\‘Wl
5,3 )
w2 1 _
x4, b

10. Quadrilateral ABCD with vertices 4(2, 5).
B(5. 8), C(8,-1), and D(1, 1):

(a) Translation: {x, y) = (x =9,y - 4)
(b) Reflection: in the y-axis

mmnERRE;

AT

| : \
E

7 \\},OA'(_'L,'_)

D\I‘ ;\ B.(_LL"i)
‘ el 5
) p'(8,3)
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Name:

Pre-Algebra
Date: Per: Unit 7: Geometry

Quiz 7-3: Quadrilaterals, Polygons, Reflections, & Translations

Find each missing measure.

1. 2. 1. 1470
2. mZl = _‘180_
Q me2=_LE®
mzZ3 = 125°

Classify each shape using all names that apply.

> E( Quadrilateral 4. & Quadrilateral
Q Trapezoid 12 ft 12 ft @/Trapezoid
Q Isosceles Trapezoid g Isosceles Trapezoid
& Parallelogram Q Parallelogram
@ Rectangle O Rectangle
O Rhombus Q Rhombus

Q Square Q Square

A 4

Classify each shape using the name that BEST describes it.

S 6 5._Quadri lateral
| 6. _Pavallclogmam

Determine whether the statement is TRUE or FALSE.

7. Every square is a rectangle. 7. Tvut
8. Every rhombus is a square. 8. Fa Ise
9. Every quadrilateral is a parallelogram. 9 Fa ke
10. Every isosceles trapezoid is a trapezoid.
i pezoldis & trapezol 10. True
©
11. What is the sum of the measures of the interior angles of 1. &L
-Si ?
an 18-sided polygon? (‘9 -2)- 180 12. 113°

12. A hexagon has interior angles that measure 127°, 85°, 121°, 135°, and 139°.
Find the measure of the remaining angle. (126°tpta 1)

© Gina Wilson (Al Things Algebre®, LLC), 2017



13. If ACDE = AKLM, find each measure.

D
13 mm /4T
15 mm
4
C 59°
E

12 mm

K
L ]
M

13. mzK = 14°

mzl = L"Io
KM=_12Zmm
K= 13 mm

Graph each figure and its image under the given transformation. Give the new coordinates.
15. Parallelogram DEFG with vertices D(-6, -3),

14, Triangle RST with vertices R(1, 2), S(3, 7),
and 7(8, 1); Reflected in the y-axis.

R, 2 )
sc3,
3,1 )

16. Square WXYZ with vertices #(1, -3), X(5, 0),
¥(8, -4), and Z(4, -7); Translated along the

rule (x, y) = (x=7,y+5)

T

-

N
N

74

|
=
%

z

18. ASKY with vertices S(-7, 2), K(-1, 8), and Y(-2, 1) undergoes a

\\\ P _ W’(ilz_)
YN 2,5
MEER ol
A e
1 23,2

E(0, -1), F(-1, -5), and G(-7, -7); Reflected in

the x-axis.
PR
e ik
\ . i
\; |
o i
~———T4& pD'(l.3 )
S B0, 1)
uba /!’ | e -
e=EmELi i B

_é,/

17. Write a rule to represent the transformation

below.

il 1

1
]

-

D,

Rule: (34:%) > (X+b, Y -2)

reflection with new coordinates S'(-7, -2), K'(-1, -8), and Y'(-2, -1).

Name the line of reflection.

18. _X-OXiS
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

ROTATION

B
A
A4 (.AB
e

Wwr n

around a fixed point called the center of rotation.

e A
« The figure rotates at a specific H!@ ‘:C and di fﬂ‘;h on .
e Rotations result in _Cbﬂgﬂlm&_ _?QI% % ons )

Rules for rotating COUNTERCLOCKWISE about the ORIGIN

90° Ala (x.tp ¥ (-y,x)
o &e
° r‘A'

270 > | Ly = (yrx)

Procticel Groph and label each figure and its image wnder the given rotation. Give the new coordinates.

1. Triangle POR with vertices P(3, 7). O(8, 1),
and R(1, 2\): 90° counterclockwise

2. Quadrilateral WXYZ with vertices W(2, 3},
X(5. 8). Y{7. 6}, and Z(8, 2): 180°
X

v ATl
] AN 7\
'// ,’ II \\ //
Q// | w7/ \
&=—No —

R o 5 3
LB | e 1 ress)
o9 5\ W rcl, b
T T rReZ,1 ) | UV ;. 1 78, -2

3. Rhombus MNOP with vertices M(2, 4), N{S. 6),
0(8. 4}, and P(S. 2): 270° counterclockwise

4. Rectangle ABCD with vertices A(-7, 7).
B(-4, 8), C(-2. 2), and D{-5, 1): 180°

\ f \
Ny \ \
(\/').o \\\ \ ‘
m— M(ii) e N E—— 4,y
‘ ‘ )X"‘ lﬂ i) 1L‘\/“\ B-(H-_‘__.-S_)
P‘(\ ' 4 £ \\\ \ c( 2.2,
}V
— N L%, = | S -l

[+]
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5. Trapezoid RSTU with vertices R(3, -1}, §(5. -1).
T{7.-6), and U(1, -6): 90° counterclockwise

[ =
S
‘ jj_\\ Rl 3
N sl .8
e A T'dL,_)
- i v, 1)

8. Triangle CDE with vertices C{-8, -1), D(0, -5).

ond E(-7, -@ 270° counterclockwise
&
a ;
i \
{ r
I i g | | 1
T 1 !

ST el £
— pc5,0)
— cl, 1
A » , E(CE2,_ 1)

7. Parallelogram JKLM with vertices J(3, -2),
K(7,0), L(é.-5), and M(2,-7): 180°
T\

¢ {
i 1

P

—._,\-‘\

CEEal ecLo
- rle, 5
‘ )Y, w2, )

- ¥ 79,2
= 7[: ( <)
I

8. Square FGHI with vertices F(-5. 7). G(0, é).
H(-1, 1), and I[-6, 2): 270° counterclockwise

F i T\
=6
I/ | |
{ 1 {
< ; ff.‘\_!k F'(li)
l 6(le, 0
' w1y
rZ, b,

9. Triangle TUV with vertices T{-4, 0}, U(-1, -2).
and V[-8, -7): 90° counterclockwise

10. Quadrilateral BCDE with vertices B(-4. -2).
C(-1,-1), D(-3,-7), and E{-8, -8): 180°

! : v‘._/”E‘
‘ r—
\ / /
\ / /
| \\II
FAERE S e 2
> r0. 2| R el
// 4 4‘\(\\\\ vZ, -l /// / p(38., 1)
\F , i 1,%) 3 8,9

11. Trapezoid EFGH with vertices E(2, -1), F(é, -1).
G(6. -4), and H{2, -7): 270° counterclockwise

Pl

A—— %‘E ‘E-. ( _b
\\ - -]

= s o4 b,

TP w72

12. Rhombus QRST with vertices Q(-6, 7). R(0, 8),
S(-1. 2), oncé 7{-7.1): 90° counterclockwise
i

4
) 4
I i
i i 5
I
QTJ""” s o1, )
g I b r(£,0
= } s=2, "l
P -1, -1
O e — rcl2h
1
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Name:

Unit 7: Geometry

Date: Per:

Homework 12: Rotations

** This is a 2-page document!? **

Give each rule for counterclockwise rotations about the origin:

90%: (x,y) — (,-%,x) 180% (x, ) — (=%, =Y)

270% (x,) - (Y, -X)

Directions: Graph and label each figure and its image under the given rotation about the origin.

1. Rectangle DEFG with vertices D(1, 4), E(7, 6),
F(8.3), and G{2, 1): 180°

2. Triangle LMN with vertices L(1, é), M(8, 7).
and N{5, 2): 270° counterclockwise

; — .gl ‘I'r__.--—" M
5 V |-\ /4
T i ~—/
a‘f :"f p :"'
¢ - eCcl, ) ///T\\ v,
= — F (8.3 ) \ M8
A i 62,1 S, V&)

3. Trapezoid QRST with vertices Q(2, é). R(5. 7).
S(7. 3), and T(1, 1): 90° counterclockwise
-1 - Q

AT
]
h‘x‘» ="
Dl o, 2
R, 5
s(=3,7)
et !

4. Quadrilateral ABCD with vertices 4(3, 0),
B(6,-1), C(7.-4), and D(1, -6): 180°

»l . '

L i
—

/

/

0
e

el

foort
o ey

43, 0)
B, )
ol . B
p(=l, b)

i
=

5. Triangle JKL with vertices J(-4, -1}, K{0, -5),
and L{-2, -8}: 90° counterclockwise

{
1
¥1)
[ X
‘?\\\ >\ R W &
WA Wf. k5,0 )
A/ 1'(8 .2

6. Rhombus WXYZ with vertices W(-5, 5), X{-1, 6),
Y(-2, 2), and Z{(-6, 1): 270° counterclockwise

'.\ h“ % [}
W71 W
) I Y
/ / \
4 \
2 W— (5.5,
x|
r(Z, 2,
1, b,
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7. Square FGHI with vertices F(0, -3), G(4, 0},
H(7.-4), and (3, -7): 90° counterclockwise

8. Parallelogram BEST with vertices B(-8, -1),
E(-4, -2}, S(-1, -7). and T{-5. -6} : 180°

\ v
! R M P
A Pl
£ </ ! NN
\\ )'-4”\ :\.‘\\\\
e\t
— A F3. 0y g L S S
4 .. P —
K—~N (0.4, A\ e, 2)
Ry | S L N sl
< w r 1,3, L < T'(S_,L)
9. Identify the degree of rotation. 10. Identify the degree of rotation.
B
]
< -3)
AT w2 )
1 (-3,72
A ——u b
Pal P N
- b7 ! L i ZaN
4 L
AN “r
\ / !// 9
= s
q’
B'
Rule: 120° Rule: 210° Counttrelockwise

rotations are about the origin.

Directions: Graph and label each figure and its image under the given transformations. All

11. Triangle TUV with vertices T{-8, é). U{-1, 2).
and V{-4,1):
(a) Rotation: 20° counterclockwise
(b) Reflection: in the y-axis

12. Trapezoid CDEF with vertices C(-6, 6),
D(-2. 8), E{1. 2}, and F{-5, 4):
(a) Translation: (x, y) = (x-2, y-8)
(b) Rotation: 270° counterclockwise

1| —%ﬁj@\g
=< N
\\\ \
P o R
T 12 ez, 8
P A rlo, -8y | — o0 Y,
e A I ‘ ecl |
\§3 T Wis R T e I
-‘-\
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Dilation

enlarge or reduce.

» When bl

+ Variable for scale factor: L

. The_C_h_la_tq_ﬁ_m_ﬂAj'_or [ﬁdﬂ{',:h'ﬁ!l of a figure.
e The S['alﬁ ;Ea.dﬂ indicates how much the figure will

, the dilation is an ﬂla_[iﬁm
» When k<l , the dilation is a _ - tduUch on )

« Dilations result in _S:LM:L‘QV'

f\’aJ Uyes !

Practicel Graph and label each Figure and its image wnder the given diation. 6ive the new coordinates.

1. Triangle ABC with veriices A(-3. 4), B(2, 1).
and C(-1,-5): k=2

K<
1 ﬁ‘ - -
IR
) £
1 \ ,V
’ b, )
{
\ B'( 4y 2 )
0: (=2, -0y

2. Parallelogram PORS with vertices P{2, 3).
O(4.3).R(3. 1).and S(1, 1): k=4

e F 4‘ 8, 12)
- Y odb 12
shL#- (1% U

L
s, U,

3. Square EFGH with vertices E(8, -8), F(16, -6),

4. Trapezoid TUVW with vertices T(-18, 3),

G{18,-14), and H(10,-16): k=1/2 U0, 9), V#6.-6), and W[-15,-9): k=1/3
?
I\ -1 4’#
6‘ ’i‘ - A
\ \ = ]

\ 3 Ji% B
S e ! frsitl

\‘ E'( H ""l \‘ } "Jv T'("'Le , )

1 A (8,23 ) X mrii v(0 3,

na ¢ (9.7, \SoaEE r=2_,-2)

H'( 5 ,"g ) W W'("'5 -3 )
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$. Quadrilateral JKLM with vertices J(0, 12), 6. Triangle XYZ with vertices X{0, 2), Y(4, 6).
K(8.12), L(4,0), and M(-8, 4): k=1/4 and Z(8,0): k= 3/2
' |
oJ K :
- ] Sa R Eeans
: | | |
e 03| A
W A k(2.3 ) AN x 0,3
~—_Ar 1/ L0y | RN rele. 2
H {— 2z | b = v 1z 0
" P 35 P ) M=, i i ) (&, YV )
LR = Z z
7. Graph the image of the rectangle below 8. Graph the image of the tfriangle below using
using a scale factor of k = 3. using a scale factor of k = 1/2.
i i [of] =“ | xﬁ-' i
PN —
Bve \ A7
\ s~ |77
N D N A
E\ AV ! S /
AY ‘ B'( 32 -3 A
\ Y i 8- 4y -s
\\\ ‘ ‘ \\ C'( q , 0 ) o0& ‘ Ilj ' o (=1,
‘ \ . - ™~ ‘ B ,
‘\ 2V oI5 12 ~_ \/[ ' 3 0
=T £c9q. 18, - s, =Ty
9. Graph the image of the rhombus below using | 10. Graph the image of the quadrilateral below
a scale factor of £ = 1/5. _ using c‘n scale factor of & = 4/3.
T 0
S
. AN N
\ S  uh Y
< | W
A \ \ NN
// // \‘ \\ N 4
ya va sl 2 D 012, 0
| / { N -
//4\ =T T'(ii.) \\ \\ 7 U(ﬂ_ai)
v gt A | ‘ \ 7
L= vz, 1, — 40,8
*
T v O, 0 \47/' D8 -l )
11. Identify the scale factor used to graph the 12. Identify the scale factor used to graph the
image below. image below.
?(2‘0 - ‘H (q“"g))
N ‘ ' -2
\\ S~ P‘L%“—D o Ji H (‘0'
= PN —\ y2 /
\ < G\/. II
\ \VARNY/
\ I\ II
3 N P /i
e W1 ‘ i
| \L"‘_ ! 1 fa 2
=y e Y k=_*3
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Name:

Unit 7: Geometry

Date: Per:

Homework 13: Dilations

** This is a 2-page document! **

Directions: Graph and label each figure and its image under the given dilation.

1. Parallelogram JKLM with vertices J(0O, 4),
K(3.5),L(1,0), and M(-2,-1): k=2
)

2. Square PORS with vertices P(1, -2), Q(2, -1),
R(3,-2),and S(2, -3): k=5

- ,
. il /
L s D
y /
At 4 N
/ ] ,/ \\
) ,é‘ s 70 8, PS5 , -I0
klo, D) AN oD, -5
(2,0, c RIS, -10)
‘ w2, 8 s (1D, -15)

3. Triangle WXY with vertices W(-8, 16), X(8. 12).
and Y(-4,8): k=1/4

4. Trapezoid ABCD with vertices A(-18, 0),
B(-15,9). C(-6. 12}, and D(O, é}: k=1/3

R
~] n x'_‘ 3
- a ot
= n g - N
A= i A‘(_,"b _O)
w“_ wi-2, 4 , / s B (-2, 3 )
ﬁii X'(i,i) \arinp= N Ru/il "o (=2, xl )
= ' pe-l,2 | Y p( 0,2

5. Rhombus STUV with vertices S(1, 1).
T(4,2), U{3.-1),and V{0, -2): k=4

é. Triangle FGH with vertices F(-4, 0}, G(-2, -6),
and H(-6,-4): k=5/2

T T £ ;
u J?i y an
Zan A
N f i ) "
i 7 A . ]
=f ’ S'( L} , Ll ) q z 0 0
F LLE rcll 8 SSNEEY rPCE, Y )
et sl Y, 2 ¢(-5,-15)
VL v 0 '8 ) H'("lg, 'ID)
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7. Graph the image of the rectangle below
using a scale factor of &k = 3.

8. Graph the image of the triangle below
using a scale factor of k = 1/2,

\L‘ B
\\
N 1
y, ) . S
. . : PR
NH ‘ RS
Ty - q \\
Ty k-l ) \
as B9 .5
, , 9.5 )
.3 \ w ez ]
M'( 3 3, =
V=0 2 P D=1, -4

9. Graph the image of the quadrilateral below
using a scale factor of k = 3/2.

10. Graph the image of the triangle below
using a scale factor of & = 3/4.

cl .
/’b}’-l
I
PAV4ARN
11/
'J , I
V. LA
i/
r</ Sy
I_‘ e, -
S i el -9,
- /
B s b, O,
B -12,

N AH 3.9 )
N Xz, 12 )
\ rcls, b )
- 2 9 » )
11. Identify the scale factor used to graph the
image below.
T TR
/ u'(2,0)
7
[}
4
. 7 114
/ L0
e L1
/ '/ i
/ LA
L]
ll
/
k=_13

12. Identify the scale factor used to graph the

image below.
~ =
&= (4,
B B D'(5,-5)
‘ /18—
\ /
A\Y
A\

k= /4
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P
=

=
S
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\'d
-

N

cD
<

S
N

o

m o
A = 1
3 Seao
Y4 N ]
c N \
0Q —_xl M.o.. - : HH
-
N 1 NS 5 o
IV.KC - . ..HV_..C .m T
- 5 N . g -
K o o - q
X [ ! 0 —
o et 5 11 n &
- A\‘h!- .—. N = ~
wX ‘B N 1 it
N [ I~ D > AUE
_ ] y IV - ] r\ﬁv
\ "V -~ ’ Nﬁ
2 \ - - v\
- -]
< ‘UII/
oo —t X — 4
8 -
-— ek
T Bk
PR
P
*
~ . —\
x W0 -~ -1
I \ - I w‘ - " .l. _
- -l .
\ \\ hdl &= ~L n”.e Mq o ”]I
% |- ,,..\|| . + 8 2 ol - o~ RERS )
g T S % L 2 KE no TN ~
2 2 < NI & N
ﬂ. b _ - v -
— > AP -
-, 4 &
- vy 9 e - Lo
S c
3 A .
($) \
o /i
o~
P

(o)
NOIL3143¥

(2715 )
NOILVISNVil

n wmy |
NOILV.1Od

(TP wS | bl
NOILVY1Id
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@ ©©@® TRANFORMATIONS REVIEW ¢

REFLECTIONS
1. Parallelogram GHIJ with vertices G(1, 5). H(8. 7).
1{7. 3), and J(0, 1); reflection in the y-axis.

2, Trapezoid PQORS with vertices P(<7::2), O(-4, -1).
R(-2,-5)..and S[-8, -7); reflection in' the x-axis.

3. Triangle BCD with vertices B{-2, 3), C(-1. -7}, and
D(-5, -1); translated along the rule

(v.y) = (x+9,y+4) \

\ I B i I
“\\\]‘(’t/, l‘r\ S\\ i‘: ]
\ YT / \ T
I' === \\\\ul_,-/ /"l‘ : Q\ ‘l [‘
713 G5 > 1 P, 2,
J 73, 1) ?7/ \ | ot V)
‘ ! { rc1,3) 1 : R, 5
—— reo. by | ' - 58,7
TRANSLATIONS

4. Quadirilateral MNOP with vertices M(1, 6).
N(3. 4). O{4. -1), and P(-2, 3); translated along
therule [x.y) - (x-3. ¥y +1)

\K\

A TN
Al <\‘ i —
— (/i z P — RS w2z, )
v i 28 e I — v ¥ 0. 5)
' - 2.3 N I ol o
- r. 3 P54

ROTATIONS

5. Rectangle WXYZ with vertices W{-8, -4),
X(-2.-1), Y[0. -5), and Z{-b, -8); 270°
counter\s{ockwise rotation about the origin

é. Triangle RST with vertices R(2, 6), S(6. 7)., and
7(8, 1); 180°rotation about the origin

\ % A
4 \
\ \ ‘ \ 1 \
\\ 3\ ¢ \\ \
\ 81
et et g | . .
JEETT— ] relzy RO s
\ A (=5, 0) ] s, =)
, N 7(-2, b, :_’ T ‘ e d B
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7. Rhombus ABCD with vertices A(1, 0), B(6.-2).
C(8.-7). and D(3, -5); 90° counterclockwise
rotation about the origin .

;'tv
o /
f
9 a0, 1
NENSSES (2 b )
\ 1.8
HY e (5.3

8. Quadrilateral STUV with vertices S(-é, 5), T(-4. 7),
U(-2.1). and V(-8, 1); 180°rotation about the
origin

|

S

\

\ sl 5,
vorH,

vz, -l

r® -1

)

]

| 1 \

[
(IR

b4l

DILATIONS
9. Triangle LMN with vertices L(1, -2), M(3. 0), and
N(2, -3); dilation with scale factor k=5

10. Parallelogram DEFG with verlices D(-6, 2),
E(0. 4), F(-2, 0). and G{-8, -2); dilation with scale
factor k= 3/2

Lk ,.!A. - \
Wit 7 = ,%:
" ! — ‘ :4$‘ l 4
f BN ARRY GRRYy 09, 3)
’ ‘
(5, -0 ¢ E0., b)
/ .
mwds, o) ~ F23,0)
N.I v 10, -1S) 2 G (1% -3
NAME THAT TRANSFORMATION! (\Jrite the rule, too)
" g(-1,-D 12 3 R(4:2)
' (1,-" AL R (2,
N
4 1 me. \ \\ -
AN Rotation R Dilation
/, f \ F- - 1\
VY avew | e
Az amn N
2 o (lh\rg(?—nw
1. . J(1,-2) 14. \ v (-6, L)
J'(1,3) IE=sy = v (2,0
{ { I/
I [
SETEN Reflechion FE inm
HAE, N e Transiaton
XIS (X,y) > (438,0)
M
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Transfornalions Mazel

Directions: Use the points A(-7, 2), B(2, 4), ((-8, -6), D(6, -3), and E(-2, -1)
to complete the maze. Use your solutions to navigate through the maze.
*CCW = counterclockwise

— Rl —

reflect p;;?rés&a:jer diate point B rotate
portAover [(7.2) | therue  |(10,8)| USndascae | (4 g) | PONTEZIY
the x-axis & )= k=502 the origin
X-lLy+D /
(7. 2D\ .2\ (3.6 7660 _~C. - 0D\ 10N\ @1
diate point £ fransiate
rotate point D point C under reflect
using a scale <@ ) 180° about -6, 3) the rule (-7.1)| point E over
Factor of Y« the orign x Y — the y-axis
k-3 x-ly+5)
(6. 3) (y (3. 6) (3. 6) (-7, -1) 2y (-2, -1)
En C[I dlate point D Irqr’fg’r%() diate poirﬂ;qI D
i . usingascale |2 .1)| Poin ° @ using a scale
(-2.1) Pactor of (2.-1) ccw about @2 Pactor of
@ k=2 the origin k =lI3
o
6.8) N\ (6. -8\ -6.8) | 4. -2_-2.-0 |\ (4.2 \(2-1)
franslate | e \ translate
point B under rofate diate point C point A under
therue | (8,6)| PONtCA (4 8) | usingascae [(-1,-1)]  therue
(x, Y) — ccw about Pactor of Y —
e y+2) the origin Kk =3/2 / (x+8y-3)
PN
2.0 @ A@ -\ 49\ 649 Ly A0
rotate point A 01;;1? BSLIAarTc?er diate point C / reflect
80° about  [(7, -2) )p th ushg ascale |(.g, 4 int
. erule (4.3) | “nliorop |88 pointCover
the origin x W - K =12 the y-axis
x-2y)
_
m): (-2, -4) (0, 0) (-4.-3) )| (3. - N\ (4.2 8, -6)
\ ‘rrfrésla‘rg / Mot \ rotate
reflect "\ point & under reflec i 0°
point B over ((-4, -2 ) the rule (-2, -4)| pointBover |[(4.-2) Eg\lfa%gu;r
the x-axis ( x, 29) - ) the y-axis the origin
x-2,y-
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Name: Unit 7: Geometry

Date: Per: Homework 14: Transformations Review

** This is a 2-page document! **

Directions: Graph and label each figure and its image under the given transformation. Then,
| give the new coordinates. Assume all rotations are about the origin.

1. Triangle DEF with vertices D(1, -3), £(8. -2). 2. Rhombus QRST with vertices Q(-6. -2). R(0. -1).
and F(3, -7); reflection in the x-axis. S{-1.-7). and T(-7, -8). reflection in the y-axis.
F\
i +
- 4 ] i
1 E i |
] L, |
t ﬁ ____f,_!‘ . - Q'(L i
/ ] A \
7 E(8, %) i \ N e
/ ! L \
HERRRE R I A Ot e 45
3. Quadrilateral JKLM with vertices J(-5. 5). 4. Rectangle WXYZ with vertices W{-4, 2), X(5. 5).
K{2,-1), L(-5, 0), and M(-6, 2}; translated Y{7,-1), and Z(-2, -4); translated along the rule
along therule (x, y) - (x + 5, y = 7) (x.y) = (x-4,y-3}
¥
=\
/ < $ ‘/; 4 \\
A, et
miy . X /A\\\ \
L '.N*‘\ ‘.’ J,(_.O_.:.i v)\ﬁ,/ - \\ 1‘ | \5 W'(ill_
< o I B T (1, 2%)
ST L0, Y r3,4
- =51, M), -5) \ - . z b, -1,
L ‘~ 4’ —
5. Triangle GHI with vertices G(-8. 3), H(0. 7). é. Parallelogram ABCD with vertices A(5. -2).
and /{-4, 1); 180°rotation B(8.-1). C{5. -6). and D{2, -7); 270°
counterclockwise rotation
A ¢
A
g |
{
\é‘_ i - 5 A »( ‘2_ -5
P
/ a 68,3, | " NN y 7 Bl -8 )
A4 H( O, TN A crv, 5
31 - ! ’
¥ rcd, - g < D (-1, %
¥ Q' VY
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7. Trapezoid STUV with vertices S(-7, -2}, T(-5. -1).
U(0, -3}, and V-6, -6); 90° counterclockwise

8. Triangle LMN with vertices L(2, 7). M{é., 0).
and N(3, 1); dilation with scale factor k= 2

rotation !
\l
L AN
[T
\
N
mEREL s 2,7, NS
SSREARN rl, %) NN v
VN \Jr v(3,0) R Mz, o)
v 5}, Y vl -l =Y i*w_ N, 2 )

9. Square CDEF with vertices C(-12, 3}, D{-3, 0},
E(-6,-9), and F{-15, -6}; dilation with scale

10. Triangle QRS with vertices Q(2, -4), R(6, -2),
and S(4, -6}; dilation with scale factor k = 5/2

factork=1/3 ‘ — —
e et
] N I A P AR I
/ \ 7—7/ oy \ Q..\
¥ T N il
) ¢, &
] ] A’ . /! 5 -10
¢ o p(h, 0 . (=
T 2,3 SN T/ 2de, o5
- FeSL S sdo, s
sl
Directions: Determine the type of transformation and write a rule.
n. M(3,-0 12 - A(3,-2)
M'(2.2) > A'(2.3)
PR =t
1 A
/ 3 )
NG Trarslation T Rotation
T /,77 . (’(M) -) ] X /‘/ A0° Cow
o (%=1, y+2) + T abowt the
P € O¥igin
13. ”G 1| (L\,_q) 14, — . W(i\ ‘_“
y Saa w (,-) D w2
4 ! Ho S A
p y AN 17 T\
o qQ’ 1L 1\
F L7 4 . : % : é i
g Dilaton ‘ )
yA ' \<_ ‘/4 - 2{-‘—\CC+|61\
in \5'00('5
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Name: Pre-Algebra
Date: Per: Unit 7: Geometry

Quiz 7-4: Transformations

Graph and label each figure and its image under the given transformation. Then, give the new
coordinates. Assume all rotations are about the origin.

1. Rectangle ABCD with vertices A(-8, 6), B(-2, 8), 2. Trapezoid PORS with vertices P(-7, -5), O(-2, 0),

C(-1, 5), and D(-7, 3); reflected in the y-axis. R(-1, -6), and S(-3, -8); reflected in the x-axis.
Sk ¢
[ X N | T lﬁ\- l i
b e N  BZ E
= i 1 AR
= T T~ 1 1
,BI . / 1
48, b s 1,5
B(Z,8) ! 0'(-2, 0
cl.5) ¢ R 3 | Rl b
’ I\\ ‘ p | ‘ | ry -
p 1.3 SN 53,8
S
3. Triangle JKL with vertices J(-3, 4), K(5, 1), 4. Parallelogram WXYZ with vertices W(-3, -2), X(1, 0),
and L(1, -2); translated along the rule ¥(0, -5), and Z(-4, -7); translated along the rule
x)—=(x+2,y-9) (x,)—>(x+6,y+7)
‘ i 1 1 *
: ‘
o j II
ﬁ\ ] : / [
N - ' AN (3,5 )
3TN s, 0) WA X,
\\\ ™~ ' N A Jr i '
N k(.23) = — rde2)
YT L3, ") Pt H  z(2,0)
Al |
5. Rhombus DEFG with vertices D(3, 6), E(8, 8), 6. Quadrilateral MNOP with vertices M(3, -1), N(8, -4),
F(6, 3), and G(1, 1); 90° counterclockwise 0(6, -6), and P(1, -7); 180° rotation
rotation ¢ .
s
v | é\ X r L1 ) ? o
L~ * Y 17 L r
| / ] i
\\ 3 r/ F N
_‘%\\ \ D=t B \\ Ji
)z D'(¥,3 ) A T mE L
U f . ’ A "
@ 1 2.8 ‘ R veg )
T Pl SN ol b
: i / L |
: G\, 1 ‘ —1—b P, )
14
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7. Square RSTU with vertices R(-3, -1), S(-1, 0), 8. Triangle XYZ with vertices X(0, 5), Y(5, 10),

(0, -2), and U(-2, -3); dilation with scale factor and Z(15, -5); dilation with scale factor k = 2/5
k=4
) W
S X
1 AT\
\\ AM 1/ N
S/
N ‘ T
R (2,4, LK
\ "n - N\ ,
Sn S NETEC S £ <S8 NASNEEE X 0.2
o 70,8 NN r2
“T vd., -y ‘ - N 7 b -2)
A
Determine the type of transformation shown on the graph, then write a rule.
9. 10.
gl Q Reflection 3 ! d Reflection
Q Translation IS ‘ QO Translation
/ QO Rotation I Doy Q Rotation
/i L L F ‘ .
'] | & Dilation /] i » Q Dilation
- ; N ) |
Y L 1G ! |
Lo/ T(00) AC
i T (0:2) G amL
el P
~1_ \| |~
| |
| Fll |
-\ .
Rule: K7 £ 3 Rule: _ X-QAXIS
11, 12,
AT Q , Reflection ’ | ! O Reflection
,A\ 1 MTranslation b A" f QO Translation
A1 1\ — O Rotation N A & Rotation
R | Q Dilation N O Dilation
J N R’
\\ \ »
A PO, 9 B(-2.-D
A\ 2 i B'(-1,2)
. \ Pl ('3:03 . 1 i
R 1 17 21
LN L 7
N I4EmaEEERE
— ‘ D ‘
Rule: (XI%B > (3("'" nlj "—]) Rule: _2710° ¢ew a,mAd'_‘thﬁ_DVigin
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Unit 7 Test Study Guide
(Geometry)

Name:

Date: Per:

Topic 1: Basic Angle Relationships

1. Using the diagram below, classify the angle pair as vertical angles, adjacent angles,
complementary angles, or supplementary angles. Use all names that apply.

a) ZABE and ZEBC b) £ZABD and LEBC
Mjocent + Vevtica
Supplementavy
¢) ZEBC and ZCBF d) ZABD and ZDBF
Adjacent + :
enct
Comple menda vy Adjac
2. qp-13 3. Bo-gs |4 q.
/e - —oce 134" ETTS
x/ 73 = ljo ) x°f85° R qs X > y g:t.“po
kz =134° l
Find the valve of x.
5. (VCV'H w) 6. (_CDMP' me . (SU.PP'CM CV\#LVM)
(7x + 10Y (6x — 15)
(11x - 14):
X 410 = e -4 bX -15+2X+1 =90 575.2;—?;;41;0'80
10 = 4%-14 3*"“:;"|° I?Ix: 19
= gx = 10t =
e X513 Xl

8. If ZX and Y are supplementary angles
and msY = 61°, find m£X.

\R0 - Ll 1L

-
-

9. If Z4 and £B are complementary angles
and mZA = 22°, find m£B.

Q0-22 =|lg°

10. £1 and £2 are vertical angles. If mZ£1 =
(7x + 20)° and m£2 = (9x - 14)", find m4]1.

1)("*'2.0 = o[\(‘l"‘

20 = 2y -y
34 =2x
X=17

M =0 + 20 =[129°]

11. £J and £K are supplementary angles. If
msJ={13x-10)" and m«K = (8x + 1})’, find

mzK.
12 -0+ EX ¥ 1 = 180D
2l -a = |80
2l¥% = 189
X=9
M4K= g(a) +1 =|12°

® Gina Wilson (All Things Algebra®, LLC), 2017



Topic 2: Parallel Lines Cut by a Transversal

12. Using the diagram below, classify the angle pair as alternate interior angles, alternate exterior
angles, corresponding angles, consecutive interior angles, or *no relationship.”

a) Zéand £7

Altcrngle Exdevior

b) £3 and 45
Consecuhve Tntevior

c) £2and £Z4

d) Z1 and 28

Corvespording No Relationship
e) £Z2and £3 f) £5and «£7
Alternate Interior C ovvesponding
13. In the diagram above, if m«£8 = 48’, find each angle measure.
me1=_122°  pu3=_132° mzs=_HE® me7=_HY°
me2=_182° 4= 132° 0. 4R°
Find the value of x.
. . 15.
14 . "\ R (CorreSpondarg) (c:msec::‘.-l:c\e‘ o)
) 141'\ ST (10x -1y
> IIX-§ +10x-1 = (80
RN (17 -8 271X -9 = 180
= |
141 = X +IS Zﬂxx'ﬂ?q
126 =71X
X=18
Find mZ1.

16.
f / Sx + 14)
(7x 12y /

IX-12 = 5x+14
2X -12= 14
2X =206
X =13
503) +)4
= (oS +14

=19q°

Bx+14=-8x-10
14=3x-1D
24 =3x

X=g

120 ~54° =

[z

Topic 3: Triangles & The Pythagorean Theorem

Find each missing angle measure, then classify the triangle by its angles and its side.

18.

Right, Scalene

IV)@ 23°

19.

X=(0°

Acwic, Equilaterad

20.

38°
12 cm

38

12cm X

X =104°

Dbtusc, Isasceles
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Find the missing side length. Round to the nearest tenth if necessary.

Pythagorean Theorem: 21 22
W2 4 g% =x2 x X2472=182 18 {
I 21 +uy =x2 X2+ 49 =524

. 185 =[x2 — | %2225 i
X= 5G] X= 16

(0" ~c*
23. 24, x
where a and b are the 2 2912 19
]ﬁgs X?-.:-pz‘(pl—-zqh 462 - Xz\O/
andc, P 51 lb+306 = X2

2= ,
the longest side, is the J-)Z- €0

J52x2
_m_@jt—nbtsﬂ x.j—z{

25. Determine whether the side lengths could form a right triangle. Check all that apply.

&6.8,10 0478 09,12 18 &7, 24,25 0 14, 16, 30
2oL Y= 10D 1449 =LY gl +14Y = 324 494 5= 2S 1964 256 =900
1602 10D s #eY 2254324 b2s =28 462 £900

Solve each word problem using a picture to assist you. Round to the nearest tenth if necessary.

26. A 27-foot long wire is attached from a stake in the ground to the top of a 24-foot flagpole.
Find the distance from the stake in the ground to the flagpole.

A XZ+242=212
yA 24 XZ.‘-sq(o:’IZa]

X =124 2.4+

27. Morgan just got her permit and is practicing driving in a parking lot with her Dad. She drives
18 meters north then 23 meters west. How far is she from her starting point¢

82 +232 -y 2

g
X 324 4+ 529 =x 2
953=Jx2
X = 29.2 29-2 M‘

28. A painter leans a 28-foot ladder against a house so that the base of the ladder is 9 feet from
the house. How high up the house does the ladder reach?

3 X*+Q2 =282
X XZ+€| = g4

J’)Tz_ =f103

q X =208 265+
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Topic 4: Quadrilaterals

29. Find each missing angle measure.

E
me=_128°  mea=_88°
0 /s N mz2=_52°  mus= g8”
1 —=\° = 130°
§2° o 5 m£3 -
(o g H
Classify each figure using all names that apply.
30. 31.

& Quadiateral

A 4

Trapezoid
@& isosceles Trapezoid
Q Parallelogram

8~ Quodriateral

QO Topezoid

Q  Isosceles Trapezoid
Parallelogram

O Rectangle O Rectangle
QO Rhombus Rhombus
Q square Q square
Classify each figure using the name that best describes it.
32, 33. 34,
90" 90’
Tawalielogram Rectargte
Ouadrilaterad il

Determine if the statement is true or false.

35. A parallelogram is sometimes a square.

36. A trapezoid is never a quadrilateral.

True Fakse
37. Asquare is always rhombus. 38. A quadilateral is always a parallelogram.
True false
Topic s: Polygons

Formula for the sum of the

39. Find the sum of the measures of the interior angles.

measures of the interior
angles of polygon:

rS=(n—2)-|20 ]

= Mqo"]

a) decagon

S=(10-2) - 180

b) 19-gon c) 26-gon
S=(9-2)-180 | 8=(2b-2) I1g0
=3060°] = 4320

40. Find the measure of the missing angle.
S=(5-2)-180 = 54p°

X= :24:{

41. A octagon has interior angles that measure
134°, 125°, 98", 141°, 159°, 116", and 148",
Find the measure of the remaining angle.

S=(8-2)- 180 = |080°

|x= 59° |
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42. If quadrilateral 4ABCD = quadrilateral EFGH,
identify the congruent parts.

43. If ATUV = AWXY, find each measure.

v X
15 cm 20 cm
. Y

N - 19 cm U 4
A= 4E EF= AR
LB ¢ F FG= Be miW= -1|© PX= 1\ an
£[0= L& GH={D miX= Hge Y= \Scem
D= ¢ H EH= AD msY= (o4 ° Xr=7200m

Topic 6: Transformations

Graph and label each figure and its image under the given transformation. Then, give the new
coordinates. Assume dall rotations are about the origin.

44. Rhombus MNOP with vertices M(5, -1), N{7. -4),
0(5. -7), and P(3, -4); reflection in the x-axis.

45. Trapezoid ABCD with vertices 4{-1, -1), B{0, -3).
C(-4,-7), and D{-7, -1} reflection in the y-axis.

kw' u Y- ] ‘ A’ 1‘ g Vo W B

yAR N'(l.i.) X ] B( 0.3 )
r(\ ,)'-N o5, 1) 7 + ot
3.4, G - e B

46. Quadrilateral WXYZ with vertices W{(-3, 8),
X(2. 5). Y{-1. 2), and Z{-é, 0}; transiated along
therule (x.y) = (x -1,y - 6)

47, Triangle QRS with vertices Q(-3, -1), R(-2, -8).
and S(-5, -4); 90° counterclockwise rotation

‘I_\ i |
TN ——
o |
"@ - P E W’(—l* , z ) S | '
i i : -l AT
/ , - .= "4 ‘ <z e -3)
ey re2, -4 \\j\ | \'5 R(R ,-2)
d) z(=1,-b) ’ A e B
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48. Parallelogram JKLM with vertices J(6. 7). 49. Triangle DEF with vertices D(2, -1), E(5, 0),
K(3. 8). L(5. 2). and M(8, 1):180°rotation and F(é, -7); 270° counterclockwise rotation
K
\
\ |
\L‘ \\ : ; T
o \* M [ 5 ]
| . i E
w ' s, 1) — T >
§ ‘ L=
\ K(3.,8) » pcl 2
pd N ’ -
Iy r(8,22 =N OS5
EAn=Al m 8, -] 3 f 1 P )
|~ K
50. auadrilatevat GHIJ with vertices G(-1, 5), H{0. 2). | 51. Triangle XYZ with vertices X[0, 5), ¥(15, 10),
I{-1, 1), and J(-4, 0): dilation with scale and Z(10, -5); dilation with scale factor k= 4/5
factork=3 N
A i : 3
yd \\! ‘ = iT'L
/ \ L A /I ‘17-
) S ‘ AN
' -3 15 ) | RO
a Hy o215 | AR
| |
& H w0k ) SRR IRV X0, 4 )
y 4 \ H |
=T ,""?ju re3,3 ) /I rlz, 8 )
L
-+ T r2,0) ohd z(8 M,
Determine the type of transformation and write a rule.
52. 0 o’ 53.
L AN i [ P
_p' N\ : [ s . T A ‘ : :
RS RefFlection AN Dilahon
/f \\ - - . » I Bi
: N ﬂ AXS \ LA k=2
] " \ Ji A
i \ VAN
. A\ A
N \V AR A
! \¢c /.
N
T T NI
[ | | AVAREENR
C'
54, ) 55. v
| ’ci; AT
R am Tranglation \
\
71\ .
{ ity Reflection
e VD
MMM LXM)% R ' 180° cow
r 4 t VAN 4
} (X-3 ,|j¥8) ARY S Ooout +he
\ ..
)
\\ ! ovigin
l! U
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Unit 7 Test
Date: per: Geometry
Using the diagram Classify each angle pair using all names that apply.

below for questions 1-5. | 1. ZLMN and ZNMP

O Vertical Angles
Adjacent Angles

2. ZJMG and £ZPMK

& Vertical Angles
O Adjacent Angles

o Complementary Angles
0O Supplementary Angles

O Complementary Angles
0O Supplementary Angles

If msJMG = 39° and mZLMN = 72, find each angle measure.

3.msGMK = 1{|°

4.msPMK = 39°

5. msNMP = |8°

6. Given the diagram below, which statement is true?

A. Z1 and £2 are vertical angles and supplementary.
B. <2 and £3 are complementary angles and congruent.
C. Z1 and £3 are vertical angles and congruent.
D. Z2 and £4 are supplementary angles and congruent. C
7. If Z4 and 4B are supplementary angles and 8. Solve for x.
m4B = 54, find mzA. >
(7x + 3) (10x - 24)°
10 -54 = |20° 1% +3 = [Ox-24
3= 3x-24
21=3x
X=9
mLA = |21 x=9

9, Solve for x.

bX-10 + X +8 =180 (6x- 10y

I3X-2 = IR0

13X =182
X=14

10. If msP = (12x + 7Y, m«£Q = (6x = 7), and £P
and £Q are complementary angles, find m«Q.

12¥+1+ by -7 = 90
g% =9p
X=5

MLQ: b(5)-1 =23°

miQ=23°
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Fill in the blanks.

Using the diagram below
for questions 11-15, 11. Z5and [ £ 7] | are corresponding angles.

12. |/ | |and £8 are alternate exterior angles

13. Z3 and | £ (p | are alternate interior angles.

14. | Z(, | and £7 are consecutive interior angles.

15. If m«4 = 122, find each angle measure.

mZl = 58° _ mZ3= 5'2" ms6= 5S° mz8 = 68‘
me2=_122° ps5=122°  ao= 122°

16. Find the value of x. \ 17. Find the value of x.
(Alkernate < ) —> | (Cons-interier)
nterior) (10x - 29) \(Sx L3y (13- 36
< \; > (Sx . 8)°
DX-29 = X +3 I3 X -2lo+ 5X4¢ = 180
2% -29 =3 [8X -18 =180
2X=32 I€X =19¢
X=1b X =11
X = Ho x=
18. If m«£3 = (9x + 14)° and m«5 = (14x - 1), find m£8.
Ay 414 = 14x -] M<3: q(3) +14
\\ 14 =5x - = A
e N 15 =5x Mg (80 -4 |
2\4\ X - 3 = lsq °
m8 = 139°
19. Which diagram shows an obtuse scalene triangle?
A. B. C. D.
d 0 o o8 16m A5\ 18 m
15¢m 8in 8in - 45° 40
15¢cm 9ft
D
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20. Given AMNP, identify the hypotenuse.

21, Which side lengths could form a right triangle?
Check all that apply.

For questions 22 and 23, find the value of x. Round to the nearest tenth if necessary.

”_, P A. MP
B. NP
C. ZMNP
M D. ZNMP
A
22.
LP"HIZ:' XZ 4m §
b +3b = X2 —
J52 =[x2
X:'].Z
x=7.92

23.
X2+ 192 =232
X%+ 3Ll =529

X2 fieg
X=13

23 ft

x=]3

24, A 36-foot long rope is tied from the top of a pole
to a stake in the ground. If the stake is 17 feet
from the base of the pole, find the height of the
pole. Round to the nearest tenth if necessary.

X%+ N2 =342

25, Starting from the line of scrimmage on the
football field, Trey ran 25 yards directly down
the field, then turned to his right and ran 8 more
yards. How far is he from where he started on
the line of scrimmage? Round to the nearest

% 3b tenth if necessary.
X2 4289 = 1290L 24252 = x 2
Z-
7 JX 1001 5[ /i o + 025 = X2
X:3"1 ’bgq%xl
X=2b.-2
37 £+ 26-2yd
26. Find x. 27. Find mZA. E
38
B C /s2°
—> 112 6§17 D
A. 21 l A, 118° "N
B. 41° 121° v
C 32 C. 128
® 37 D D. 135 B
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28. Fill in the blank:

“A rectangle is not always a S

A. Square
B. Parallelogram
C. Rhombus

D. Quadrilateral A

29. Fill in the blank:

“A parallelogram is always a R

A. Square
B. Quadrilateral
C. Rectangle

D. Rhombus .B

30. Classify the shape below using all names that
apply.

lY( Quadrilateral

Q Trapezoid

O Isosceles Trapezoid
o Parallelogram

o Rectangle

Q Rhombus

Q Square

31. Classify the shape below using all names that
apply.

o Quadrilateral

g Trapezoid

Isosceles Trapezoid
Parallelogram
Rectangle
Rhombus

Square

Y
[ o I oy

32. Eliza drew a four-sided figure with opposite
sides parallel and congruent. Which best
describes the shape that Eliza drew?

A. Quadrilateral
B. Parallelogram

33. Fill in the blank:

“A rhombus with four right angles can be
best described as a J

A. Quadrilateral
B. Parallelogram

C. Rhombus C. Rectangle

D. Square B D. Square D
34. Find the sum of the measures of the interior 35. Find m/Y.

angles of a nonagon. S (l-2) O

$=(a-2)-1%0 =120

A. 900° A. 131

B. 1,080° B. 135

C. 1,260° C. 139

D. 3,060° C D. 142 ¢
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For questions 36-38, use the diagram 36. Find m<E.

below to find each measure. mLE = q Y 0
| figure ABCD = figure EFGH |
37. Find m<G.
y 18m B H G
mZG = €9 o
38. Find GH.
D 20m C E F GH = Zom

For questions 39-42, graph and label each figure and its image under the given transformation.
Then, give the new coordinates. Assume all rotations are about the origin.
39. Rectangle ABCD with vertices A(2, 8), B(8, 6), | 40. Trapezoid PORS with vertices P(-7, 7), O(-1, 6),

C(7, 3), and D(1, 5); reflection in the x-axis. R(0, 4), and S(-4, 1); translated along the rule
A x»)-ox+3,y-7)
h o]
™~ /
A% I~
c y
7
ae
A W
> C \ [
L~ | ]
\ /A B‘ Y,
R A -
4% (2,-9) B: (9,-6) P: (-4,0) 2: (2,-1)
¢t (7,-3) p: (1,-5) R: (3,-3) st (-1,-0)
41. Quadrilateral JKLM with vertices J(-4, -1), 42, Triangle TUV with vertices 7(4, 0), U(6, -4),
K(-1, -2), L(0, -5), and M(-7, -8); 180° rotation and ¥(2, -6); dilation with scale factor &k = 5/2
Mm! A
T AR
/
¥ JAN JAAY
\ [ J 1\
i . /i / \
4 [l A | ]
bk N1 1 1] A\
1 U \
ARER l \\
) \
1, i A u
/1 | / o
- M P
J% (L\-|3 K’ (lcz) V!
L: (0,8) M: (1,8) T: (10,0) |U:(15,-10) |V: (5,-15)
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For questions 43-44, identify the type of transformation and rule.

43. 44, M
TR
VA
[\
1/
N
-
- W ~—~1 1l x f %
= TN 71\ .
’ \ / FARY ;
2 ] 7 JER r
1 A V8l N 1 \ i
BRNGN/ t e A VN
N v RSN T T
X’ N
A. Reflection; x-axis A. Translation; (x, y) —» (x -8,y -9)
B. Reflection; y-axis B. Translation; (x, y) = (x-9,y-8)
C. Rotation; 90° counterclockwise C. Rotation; 180° counterclockwise
D. Rotation; 270° counterclockwise D D. Reflection; y-axis A
45. Which graph shows a dilation with scale factor of 1/3?
A. Bl CQ . D.
I T T i L
1 p "
!. 4 ', 4 /
aman 1 yih 51
/ /,[ / lq //; i ﬁ 4 4 INY 4
YT X34 741 TR [R]
) 1 ] \i’ I i : 1 / \ : l’ ' \ I’
’ [r N/ N——HF N ’/ F
I : T F —\ Ty i
b T

BONUS: Find each angle measure.

mil= g |m8= 77°

ms9 = leo

mZ£10 = Q[”

« mzil = [p[®
. m£12 = 1 7°
ms13 = 20"

msl = Y90 ms14 = “g"
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